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2H: FOX A

HH: NAAMSXNET L FHAANESXE (M EX/FHLHESKH)

Sl XHAME RS CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHAAHES 2= N 44,400 44,900 A 500
201 24l 7,000 7,500 A 500
01 At 2t 2l 7,000 7,500 A 500
O el 7,000
—FHAAHNESXNE 222 MA
1,000,000 * 13 1,000
—RHIMYETNE2ENHE 51
2,000,000 * 33l 6,000
301 et a3z 34,400 34,400 0
01 MEIBEE 263 34,400 34,400 0
OMEISXIAE =X =2 10,500,000 » 22 21,000
OdddXt & F&el 25 13,400
- F2ZH(=2%) 2,000,000 2,000
- BEHI(SS) 11,400
HSAIMOH &8I
1,000,000 » 1# = 65 ™ 6,000
SN Y R 25 (0iHl, S|
15,000 » 60 » 63 ™ 5,400
302 Ol THoH E&F = 3,000 3,000 0
02 QIZHITHOH R EFR &S 2N S 3,000 3,000 0
OMot S &0 eI2tel &ai XI=Hl 3,000,000 3,000
FHAANSX A 145,000 110,000 35,000
101 @14l 135,000 100,000 35,000
M4 D12t ZE2EXREES 135,000 100,000 35,000
OArZSl LOHAK Al (2EE E8)
135,000,000 135,000
206 = Hl 10,000 10,000 0
01 MHZ 8l 10,000 10,000 0
OAtE ol ZOHAFXT AHE M 28I 10,000,000 10,000
SetSs At 2el 29H K& 10,000 7,200 2,800
= 5,000
< 750
[ia 4,250
201 Let24d] 4,000 3,100 900
= 2,000
< 300
s 1,700
01 At 22l 4,000 3,100 900
OR& =S Atell2el 224l 4,000,000 4,000
= 2,000
< 300
i 1,700
202 o4dl 1,000 500 500
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EIPE=PN

P XYM EXER Y FHAANSKE (MSEX/FHLHSKIH)

NG MEETEA

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 500
< 75
e 425
01 = LH o4 1l 1,000 500 500
OAMdlZ2eldE23 Y| 1,000,000 1,000
= 500
< 75
s 425
307 gl2tol & 5,000 ,600 1,400
= 2,500
< 375
[ia 2,125
01 2=zL A=l 5,000 ,600 1,400
ORESE Mol 2elAgH X 5,000,000 5,000
= 2,500
< 375
s 2,125
KNS ASI MBI A SEXHALS 115,110 , 125 58,985
Xl 80,577
e 34,533
307 21201 A 115,110 , 125 58,985
Xl 80,577
s 34,533
11T MISAASER 115,110 0 115,110
OXNSGASI I A EXFALS 115,110,000 115,110
Xl 80,577
s 34,533
NSAI=XEAH 2SS XA 79,504 ,504 0
307 21201 A 79,504 ,504 0
10 ALSISXAIEEER2IHEX 79,504 ,504 0
OXNG A EXNEAM MR= & 79,504,000 79,504
G-ZFEEE A 54,000 ,000 32,000
= 2,400
s 51,600
307 glz2tol & 34,000 ,000 12,000
< 2,400
s 31,600
02 It HAHEE 10,000 0 10,000
OJI24AE HNIaAMEE 2ZH K& (2Hl)
10,000, 000 10,000
11T M SXAISE EX 24,000 0 24,000
OG=Z=c=g 200 22| 24,000,000 24,000
< 2,400
[ia 21,600
405 TtabF S 20,000 0 20,000
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2H: FOX A

HH: NAAMSXNET L FHAANESXE (M EX/FHLHESKH)

=@ XA =ZX S (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et EFFHSHI 20,000 0 20,000
Odote =X 5B (e Ml £ 7
20,000, 000 20,000
FPeEsSUERIE AMdlZelAEH X 25,000 0 25,000
307 g2+l & 25,000 0 25,000
05 RIZHRI &3 25,000 0 25,000
ORstss UWERIE Atel2el A
25,000,000 25,000
FotEs UWERIAE 23 &4 XN 10,000 0 10,000
402 QI2H X201 M 10,000 0 10,000
01 B2t AP E X 10,000 0 10,000
ORBtsE YEYIY 2HEH 2
10,000,000 10,000
gz SXRY X 20,000 0 20,000
201 Let24d] 5,700 0 5,700
03 A2 S HI 5,700 0 5,700
o8z =SXNAH &2t 5,700,000 5,700
301 et d = 14,300 0 14,300
NJEEd=s 14,300 0 14,300
Ooitgz =Xd s 14,300,000 14,300
MBIEXBAR HRMHA 15,000 0 15,000
207 RO 5,000 0 5,000
01 A3 39| 5,000 0 5,000
OMEISXSAR HRIML SEHE AR2ESA
5,000,000 5,000
307 21201 A 10,000 0 10,000
11T MIEXASEX 10,000 0 10,000
OMEISXSAA g2z 299
10,000, 000 10,000
PetEs20l I3 500 0 500
= 150
i 350
201 Let24E] 500 0 500
< 150
i 350
03 & AL2 I 500 0 500
ORE=20| &3 500,000 500
< 150
[ia 350
AANEXNH L HESXNSE(MI=SX/ES - HELA 12,814,921 13,858,054 A 1,043,133
&)
= 5,581,398




SN FUXAY
HaM: HAINEXH L HEEXNZST(MSEXN/EE - IIELHY)
Selr 2D 22U » As EKHY T4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 3,070,535
- 4,162,988
U 22 > e BEREH XM 9,343,707 10,963,090 N 1,619,383
= 4,460,110
= 2,651,918
= 2,231,679
BRAAE 8HIMNA 90,000 82,600 7,400
= 45,000
= 22,500
= 22,500
307 giztol & 90,000 82,600 7,400
= 45,000
= 22,500
= 22,500
11T A EXAIEEX 90,000 0 90,000
O0elolE sdMH 90,000,000 90,000
= 45,000
= 22,500
= 22,500
S AFAF Q1 24 H 1,088,862 1,098,826 N9,964
= 544,431
o= 272,216
= 272,215
307 212t0| ™ 1,088,862 1,098,826 AN9,964
2 544,431
o=} 272,216
= 272,215
10 M SXNAEEHESIHEX 1,088,862 1,098,826 N9,964
BSAA SALA QA (22 Yo WK
ol H|) 977,790,000 977,790
= 488,895
[ 244,448
2 244,447
OBSAE ZSALX C1AHHI(ZoIdY & WEK
ol A H|) 111,072,000 111,072
= 55,536
= 27,768
= 27,768
W w2 X 20,634 19,687 947
= 10,317
o 5,159
= 5,158
307 212t0| ™ 20,634 19,687 947
= 10,317
= 5,159
= 5,158
10 AISIEXAIEEHE2IHIEX 20,634 19,687 947
OBIZHAIE W W 2H X 20,634,000 20,634
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SN FUXAY
Ha: HUNFXNY L HE=ENST (M =EX/ES - HEL0HA
Selr 2D 22U » As EKHY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QIZtEFAIE WA XM 302,452 318,120 A 15,668
< 120,981
e 181,471
307 glz2tol & 302,452 318,120 A 15,668
= 120,981
s 181,471
11T MISRASEX 302,452 0 302,452
ORAESANEESWA MRS
302,452,000 302,452
= 120,981
e 181,471
ZOHOH, HOLEtWAL Ex2 2 33,922 24,000 9,922
< 13,569
s 20,353
307 glz2tol & 33,922 24,000 9,922
< 13,569
s 20,353
11T M SRASEEX 33,922 0 33,922
OZOMOtRAIS S22 33,922,000 33,922
= 13,569
[ia 20,353
ESA4 01018 Ots 2=l 1,400,000 1,251,829 148,171
= 910,000
< 245,000
[ 245,000
301 et a = 1,400,000 1,251,829 148,171
= 910,000
< 245,000
e 245,000
01 MEIBEE 263 1,400,000 1,251,829 148,171
ESAE 0I0I80ts d=X&
1,400,000, 000 1,400,000
= 910,000
< 245,000
[ia 245,000
ZSEESAE AEF2F2AH XA 7,200 7,200 0
307 21201 A 7,200 7,200 0
10 ALSISEXAIEEE2EHEX 7,200 7,200 0
O=3EESAE Hg2gel2ddl XN&
300,000 * 294 = 12& 7,200
sS4 Ee X2 240,000 305,000 A 65,000
301 et a = 240,000 300,000 A 60,000
01 MEIEZE+6l= 240,000 300,000 A 60,000
OSMot s&=3dt=2 XN
2,000,000 * 140 * 0.53] 140,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMMOoL E4t=ols X &
5,000,000 » 60 * 0.23l 60,000
OUmotol & E4t=ot= A&
10,000,000 » 20 =* 0.23] 40,000
MEMN =52 e =224 /325 2,000 0 2,000
307 glz2+ol & 2,000 0 2,000
05 RIZIRIEt 3 2,000 0 2,000
ONEN 2= 28 20194 9435
2,000,000 2,000
ESAE 8 EHH N 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
11 AL S RALEE = 2,000 0 2,000
OBSA4 tdFZ AL XA 2,000,000 2,000
ESAE & e 23,310 23,310 0
201 L4 2,310 2,310 0
01 At 22l 2,310 2,310 0
o2g+¢ 2,310
~ESEMIAY HAsY
0,000 = 118 * 33 2,310
307 21201 A 21,000 21,000 0
11T MISRAISEX 21,000 0 21,000
OESANESAA A&sl X&
8,000,000 * 13l 8,000
Oogold et 3 Hsal XA
13,000,000 * 13 13,000
AM2AESE BFAIE X2 18,217 16,800 1,417
< 7,287
i 10,930
307 21201 A 18,217 16,800 1,417
< 7,287
e 10,930
10 ALSISEXAIEEE2GHEX 18,217 16,800 1,417
OANZAZTE ESAE2E X 18,217,000 18,217
< 7,287
s 10,930
ESANE A A 15,633 19,974 A4, 341
< 6,253
[ia 9,380
307 21201 A 15,633 19,974 A4, 341
= 6,253
= 9,380
10 M2 SXNANEHE2IHEX 15,633 19,974 A4, 341
OBSAE Al 15,633,000 15,633
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SN FUXAY
HaM: HAINEXH L HEEXNZST(MSEXN/EE - IIELHY)
Selr 2D 22U » As EKHY T4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 6,253
- 9,380
BFAAE ekl X 20,000 20,000 0
307 2iz2to| & 20,000 20,000 0
10 MM SAANEEHESIGHEX 20,000 20,000 0]
OBSA4 ety X 20,000,000 20,000
HENAES JUEs2 A 5,080 6,610 A 1,530
= 2,032
o 3,048
307 QI2t0| & 5,080 6,610 A 1,530
& 2,032
= 3,048
11T A EXAIEEX 5,080 0 5,080
OHENAES Ols HUEEZ X2
5,080,000 5,080
=} 2,032
= 3,048
deotErE XN 4,130,116 4 /553,531 N423,415
= 2,684,576
& 722,770
o 722,770
307 QI2t0| & 4,130,116 4 553,531 N423,415
= 2,684,576
& 722,770
= 722,770
11T A EXAIEEX 4,130,116 0 4,130,116
Og9R0t B2 A 4,130, 116,000 4,130,116
= 2,684,576
== 722,770
= 722,770
S22 EFAE N 277,700 118,044 159,656
= 138,850
o= 69,425
= 69,425
307 2Iz2t0| & 277,700 118,044 159,656
= 138,850
o= 69,425
= 69,425
10 MASXANEEHESIHEX 277,700 118,044 159,656
O2Z=8 BsAEdXH 277,700,000 277,700
= 138,850
& 69,425
= 69,425
Sy 29 1,004,226 2,620,011 N 1,615,785
== 1,004,226
307 2iz2to| A 1,004,226 2,620,011 N1,615,785
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SN FUXAY
HE: AYNINY L HASNSA(MEST/ES - HSU0Y
Selr 2D 22U » As EKHY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,004,226
11T MISRASEX 1,004,226 0 1,004,226
OFclitd 29 1,004,226,000 1,004,226
=) 1,004,226
HIZHOHOF e B2 1,386 1,388 A2
< 1,040
s 346
307 21201 A 1,386 1,388 A2
< 1,040
i 346
11 ALS S XAEE = 1,386 0 1,386
OHIZoHor guts B2 1,386,000 1,386
< 1,040
i 346
WA 2L 196,610 185,732 10,878
= 98,305
< 49,153
i 49,152
307 glz2tol & 196,610 185,732 10,878
= 98,305
< 49,153
s 49,152
11T MIEXASEX 196,610 0 196,610
OuAL 223l 196,610,000 196,610
= 98,305
< 49,153
s 49,152
EFUARIZEZRSE 24,130 24,130 0
07 212H0I & 24,130 24,130 0
11T M3 SXASEEX 24,130 0 24,130
OESWA JI28 224 24,130,000 24,130
=38 Oel0ld AABI(FAR) 40,730 9,600 31,130
< 16,292
s 24,438
307 gl2tol & 40,730 9,600 31,130
< 16,292
s 24,438
10 AL SXNAIEEE2EHEX 40,730 9,600 31,130
OS380eold bl (F AR 40,730,000 40,730
< 16,292
s 24,438
FI2UHEHY 2N 4,492 2,336 2,156
= 2,246
< 1,123
e 1,123
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SN FUXAY
H: HUINFXNY L HE=ENST(MI=EX/ES - HEL0HY)
Selr 2D 22U » As EKHY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 4,492 2,336 2,156
= 2,246
< 1,123
s 1,123
09 AL HI 2 &S 4,492 2,336 2,156
OREZUHEH 28 XA 4,492,000 4,492
= 2,246
< 1,123
s 1,123
SOHEXNY gooeold X 2,190 2,631 A 441
= 1,095
= 548
i 547
307 21201 A 2,190 0 2,190
= 1,095
< 548
[ia 547
10 M2 SXNANEEHE2IHEX 2,190 0 2,190
OsHEXNY gelneold X& 2,190,000 2,190
= 1,095
< 548
i 547
g9 Helold &= 50,000 0 50,000
401 Al HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
Ogaddeold d= 50,000,000 50,000
ESWAF HRM&H =X 68,040 0 68,040
< 34,020
e 34,020
307 glz2+ol & 68,040 0 68,040
< 34,020
i 34,020
11T MISXASEX 68,040 0 68,040
OESWA HMLH FIOHXI& 68,040,000 68,040
< 34,020
s 34,020
&l 0l& CCTV &X K& 10,400 0 10,400
< 4,160
[ia 6,240
307 21201 A 10,400 0 10,400
= 4,160
[ia 6,240
11T AL SRAEE = 10,400 0 10,400
oo&old cctv &x1 X3 10,400,000 10,400
< 4,160
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SN FUXAY
H: HUINFXNY L HE=ENST(MI=EX/ES - HEL0HY)
Selr 2D 22U » As EKHY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 6,240
JHE, 2200l HES> XA 20,000 0 20,000
< 8,000
s 12,000
307 glz2tol & 20,000 0 20,000
< 8,000
s 12,000
11T MISXASEX 20,000 0 20,000
OJt&, G2t ol&d JHE= XI& 20,000,000 20,000
= 8,000
s 12,000
OtS0l A2E HEEE =4 1,855,256 1,958,440 A 103,184
= 657,135
< 336,602
s 861,519
SIRIIOIETE SFH AR 91,450 60,420 31,030
= 73,160
< 9,145
[ia 9,145
301 et a3z 91,450 60,420 31,030
= 73,160
< 9,145
[ia 9,145
01 MEIBE X253 91,450 60,420 31,030
OMAS SR20HE UH &4l Xa
91,450,000 91,450
= 73,160
< 9,145
[ia 9,145
22018 ¢4F K& 6,340 6,340 0
201 Let2d ] 1,540 1,540 0
01 At 22l I 1,540 1,540 0
oz2g+g 1,540
— OSSN BHLY
70,000 » 11 * 23] 1,540
202 4l 4,800 4,800 0
01 = LH 4 Hi 4,800 4,800 0
OJN=ENE A ot
20,000 » 5H » 4% » 128 4,800
OtS 22 X3 A 21,970 14,400 7,570
= 15,379
< 989
s 5,602
307 21201 A 21,970 14,400 7,570
= 15,379
< 989
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SN FUXAY
FH: AZINENE L HESANST(AMI=RN/ES - HEFLOHY)
cHol: OtS0l AUE IHBY TN CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 5,602
11T MISRASEX 21,970 0 21,970
Ootsge X3AHZ XA 21,970,000 21,970
= 15,379
< 989
s 5,602
QAtsLd==E A& 46,800 27,000 19,800
= 32,760
< 2,106
s 11,934
301 gt d= 46,800 27,000 19,800
= 32,760
< 2,106
[ia 11,934
01 MeI2ZE 06z 46,800 27,000 19,800
Ogdots =4 XA 46,800,000 46,800
= 32,760
< 2,106
s 11,934
2ES0ts O8N 132,636 88,425 44,211
= 53,053
< 11,938
s 67,645
307 glz2+ol & 132,636 88,425 44,211
= 53,053
< 11,938
i 67,645
10 ALSISEXAIEEE2EHEX 132,636 88,425 44,211
OREsl0ls OISE88H Es 132,636,000 132,636
= 53,053
< 11,938
fia 67,645
ANEtsdH2GRA 296,772 268,920 27,852
= 137,886
< 20,683
s 138,203
307 21201 A 296,772 268,920 27,852
= 137,886
= 20,683
s 138,203
10 M SXNANEHES2IHEX 296,772 268,920 27,852
OXYotsHE 2YXA(ZHl) 21,000,000 21,000
OX<gotsdyd 2HXE 275,772,000 275,772
= 137,886
< 20,683
i 117,203
Ots=X AKX & 78,168 53,760 24,408
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2N

PRSI HIE & HE=2XS tsl2X/28 - JI=2204A)
el AYs NYEY T4 (B9 ®R)
- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
= 39,084
= 5,863
= 33,221
101 21 214| 78,168 0 78,168
= 39,084
& 5,863
= 33,221
04 JIZtHIZ22XNSE S 78,168 0 78,168
OO0l==S XD AX& 78,168,000 78,168
= 39,084
= 5,863
= 33,221
HIOIE X & 1,440 ,440 0
< 144
= 1,296
Ut A 2 1,440 440 0
= 144
= 1,296
01 AISIE& A 252 1,440 ,440 0
(OENSENEWI PSP 1,440,000 1,440
=) 144
o 1,296
& A=A 44,020 ,520 A 3,500
& 4,402
= 39,618
QutgE A= 44,020 ,520 A 3,500
& 4,402
= 39,618
01 Al B & A 46 2 44,020 ,520 A 3,500
OJE/AEUdE X H 44,020,000 44,020
o= 4,402
= 39,618
HolE & JIE{E & 16,560 ,560 0
=} 1,656
= 14,904
ot A= 16,560 ,560 0
= 1,656
= 14,904
01 Al B & X 262 16,560 ,560 0
OAEAUEINE & A
16,560,000 16,560
=} 1,656
= 14,904
(Ol E=S=eNPNE 573,860 712 NB7,852
= 172,158
= 401,702
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SN FUXAY
H: HUINFXNY L HE=ENST(MI=EX/ES - HEL0HY)
Bel: OtS0l HZ8 JHEEd &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 573,860 631,712 A 57,852
< 172,158
e 401,702
01 MEIBEZE 06z 573,860 631,712 A57,852
OZAaotsaa XA 573,860,000 573,860
< 172,158
s 401,702
ZAotsEA(BIIE E,.2,.835Y) 72,658 72,658 0
< 72,658
301 LB A Z 72,658 72,658 0
< 72,658
01 AR 2Z A 53 72,658 72,658 0
OZAsS2A(8IIE E,.¢,88Y)
72,658,000 72,658
< 72,658
HAsES0ts 5% <0 18,000 14,400 3,600
< 7,200
s 10,800
301 et a = 18,000 14,400 3,600
< 7,200
[ 10,800
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H/W 11,560,000 * 8/100 925
S/W 18,974,290 = 12/100 2,277

_74_




SN B2
HE: YT AYYSH(LUDTDYT /YU )
S9l: NAFPS QTR RE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— NM2S&88=22102(SS0) RXNE =
26,990,000 * 12/100 3,239
—NABEESALAY RANES
69,460,000 = 12/100 8,336
— SWAAHZH I A A S X2 2,763
- H/W 6,580,000 = 8/100 = 10/12& 439
- S/W 23,240,000 * 12/100 = 10/12& 2,324
—UPS |FXE= 97,880,000 * 8/100 7,831
— 250 FAES 49,721,000 * 8/100 3,978
— dAA 2 EH & |A 22 10,000, 000 10,000
202 O4dl 4,800 4,800 0
01 = LH 4 di 4,800 4,800 0
OHFFZ3s RF=ZNWHI
20,000 = 4% * 5 » 12& 4,800
403 UHXISHHSA=0l& 137,510 108,699 28,811
02 S| 2SO0l CH&HCH & Ar B 137,510 108,699 28,811
O2UetAlAa8 2G XA 2EH 12,000, 000 12,000
OXNYTHE (e-5X) RAE I 17,273,000 17,273
OZSJIgt HLEE |X 22l 82,943,000 82,943
OFYWM-—eA|AEH 222 7,047
—H/W 9,938,000 * 8/100 796
—S/W 6,251,000 6,251
OEEXNLIAHEEAIAE 3,980,000 3,980
OAMZF Mol =SPRAIAE AZTHAHEH SXE
= 7,267,000 7,267
ONYHAZZSHEANAE MEIAOAR 22
7,000,000 7,000
NAZEst Ag 2st 6,000 7,000 A 1,000
301 LA Z 4,000 5,000 A 1,000
09 EAEHIE &S 4,000 5,000 A 1,000
OdLEs0E2 §ESXNTCXHg &4
50,000 = 2¥ * 43| » 5JH0OIS 2,000
OZE0IE 2 W=R
50,000 = 2 * 43| » 5JH0OI= 2,000
303 Z& = 2,000 2,000 0
01 L& = 2,000 2,000 0
O=Z2d F2s=sd AU A4 2,000,000 2,000
Neyss s s 63,178 53,803 9,375
= 12,842
s 50,336
201 ¢er24| 51,929 42,554 9,375
= 12,842
s 39,087
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SN B2
HE: YT AYYSH(LUDTDYT /YU )
@ NAZES It = (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 51,929 42,554 9,375
ogxtz 51,929
—ANZ? HEFFZAN2E THH=SZHAH 2F
17,714,000 17,714
2 4,025
s 13,689
— ANz 5308t “=3Hl wA
34,215,000 34,215
2 8.817
s 25,398
308 XX EHH SOl A 11,249 11,249 0
07 XXM RE = 11,249 11,249 0
OAZF Mol=2HAH AZHPEH 2=
11,249,000 11,249
HHYFHBS gt &= 740,180 268, 150 472,030
201 Let24E] 74,000 40,000 34,000
01 AL 22l 74,000 40,000 34,000
Ogt=&H| 74,000
—4HE ABAZEYN P2 74,000,000 74,000
206 M= Hl 18,480 0 18,480
01 MHZ 4l 18,480 0 18,480
O&AtAl UPSHHE 2l 1 Al 308,000 = 607K 18,480
207 A RO 221,000 0 221,000
02 & A I 221,000 0 221,000
OZEIHAMXI LS AI A (MMS) 25 24,000,000 24,000
OJt&E =2 EHOIX #*= 197,000,000 197,000
405 THebH S| 426,700 228,150 198,550
01 AU SEH S| 426,700 228,150 198,550
O=dLEY Al 137,900
—ZFH 1,240,000 * 80CH 99,200
— Z2lH 350,000 = 60CH 21,000
—ZeiZed 2,400,000 = 5CH 12,000
— 2904 550,000 * 6CH 3,300
-LE=S 1,200,000 * 2CH 2,400
O2UtAIAE JHAHEBSERE 25
36,000,000 36,000
O2UctAIAE AECIK B4 35,000,000 35,000
OYgsty FM(HLE HMHEOH) 12,000,000 12,000
Odgste A (ARLSE) 36,300,000 36,300
OAR L NH Jtatst 25 141,000,000 141,000
OA Y WAA A 2 28,500,000 28,500
FESHY Zet x5 798,124 611,760 186,364
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2N
X ZH -
L= B

el

E20
Nges iy s (LT TYT/LBHT)
RSNy oTe BE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3.125
s 794,999
2SN 24 574,874 561,760 13,114
101 @124 dl 15,224 14,214 1,010
04 12t Z2XEES 15,224 14,214 1,010
OQugd JIZNIZ2XE =+ 15,224
-2 44,640 = 18 = 250 11,160
- =54 44,640 + 1Y » 60 2,679
—BEZ (L&, &) 13,841,000 * 10.0% 1,385
201 L2l 559,650 547,546 12,104
01 At 22l 7,200 4,600 2,600
Oget=gHl 7,200
—si2dE dEMA 200,000 200
— SO Z 27 7,000,000 7,000
02 2324l 552,450 542,946 9,504
Os&E2= & HA 327,000
— 22t IESHY Mz 39,600
dIcyUHEZ 300,000 = 12& 3,600
CA-RAEDSMNBIMEZ
3,000,000 * 128 36,000
—zZ-0 2 GRE FESHY M= 54,000
=~H 900,000 * 53l & = 12& 54,000
~S4BAEE SR
30,000 » 503 & = 12& 18,000
—gANHAREE AHYULEE JlHE
3,000,000 » 13 & = 12& 36,000
— M0 ESE(0/SHS, LBrESG})
20,000 » 50084 » 12& 120,000
—0ls&z0lE= 100,000 » 123/ = 128 14,400
—SHESNSYE, SN S ASL 23
40,000 * 503l & = 123 24,000
—UOXNEYS g6 ol8x 600,000 » 128 7,200
— oY &3 sld 0lEE
300,000 » 13l & = 128 3,600
—33Wifi MEIA 3dZ
500,000 » 13l & = 123 6,000
—UHERZ ZHMALE AHIA 022
300,000 » 13 &d = 128 3,600
—HEEFE SIS 50,000 = 12& 600
OAEZHI S X 225,450
—ALL-IP QIR &Y RAE
246,930,944 * 8/100 19,755
—JESAZLIH FANE=
524,678,345 * 8/100 41,975
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SN B2
HE: LB YA (AUDTHE /A HE)
& FESAY emet 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—EENHSRNSNY S RARS
50,297,000 * 8/100 4,024
— FAJYAAEH FRNES
42,827,600 * 8/100 3,427
— SOt ZHAIAE RS 47,379
- H/W 423,747,327 * 8/100 33,900
- S/W 89,858,500 = 15/100 13,479
DY HOAIAE SX2a
47,000,000 * 8/100 3,760
—FUHEZAE SRXES 50,000
- =4l 50,000,000 = 3/10 15,000
L 24| 50,000,000 = 7/10 35,000
—HHLSSHY FAES
128,200,000 * 8/100 10,256
—ZSUANE SAES 29,157
FEH~sg 9,489,000 * 8/100 760
oA~ AT Mzt 16,960,000 * 8/100 1,357
< JbE O 2t 338,000,000 * 8/100 27,040
—HDY M BAAY RN
(73,766,106 = 8/100) + (36,241,550 * 15/ 11,338
100)
— SAa ZefEH(E28I1,0PS, 002 )
PN 54,729,000 * 8/100 4,379
dESAL JIB =5 223,250 50,000 173,250
= 3,125
s 220,125
401 Al HIZ 201 8] 223,250 0 223,250
= 3,125
s 220,125
01 A& HI 223,250 0 223,250
= WA 217,000,000 217,000
ORHE QB (WI-FI)&A JI8F =4 6,250,000 6,250
= 3,125
s 3,125
HHE2H K 364,352 425,436 A61,084
2fEF Hd 237,780 266,390 A 28,610
201 Let24d] 213,470 208,170 5,300
01 At 22l 154,490 150,390 4,100
O+t 45,490
— g3y 3R 80,000 » 2% * 43| 640
—g24a FF AE 100,000 * 128 1,200
—gxA oA el 150,000 * 1CH 150
— YA ML 23 500,000 500
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L= B

el

A HE B (EH) - HRAY - BES il HREZ
— ZAMAMRA HHXE & et E
3,000,000 = 35 9,000
— o84z g% MA 10,000,000 10,000
—A&E32 ¥ ol M 500,000 500
— =21 M 3,000,000 3,000
—=3g S A &0 M
70,000 * 15JH 2 = 103 10,500
—JIEt =84l 10,000,000 10,000
On=tl 1,200
- 22= 100,000 » 3 = 43 1,200
Oo2g+¢ 107,800
— =AY 50,000 = 4 = 3652 73,000
— 2 X H| 50,000 = 6F = 1162 34,800
02 2324l 58,980 1,200
OAl& & HlIS X bl 58,980
—CCTV R X E= 60,000 = 44CH = 12& 31,680
— RoUIHAAEYE SN2+
1,700,000 = 12& 20,400
—ZUZRANLE RAE+
25,000 = 23CH = 12E 6,900
202 04l 11,310 0
01 SLHOYI 11,310 0
O2AMALS I 30,000 » 1 = 2492 7,470
O3 a0 20,000 * 4% * 4 » 122 3,840
401 Al HIZ 201 I 13,000 13,000
01 A& HI 13,000 13,000
OB ALY CCTV F2Jt A XI(1400) 13,000,000 13,000
Is2 29 126,572 N32,474
201 Let24E] 125,132 65,526
01 AFR 22l 10,406 0
Oget=EH| 7,914
— SAEX 25,300 = 202fA « 33 1,518
— st A 30,000 » 30 900
—ZeE EU 338,000 = 4CH = 33l 4,056
—SAMI ENH 220,000 » 1CH * 23] 440
— UUANRES 1,000,000 1,000
o=l 1,512
—JISEULZFA (L2 2N S) =4
7,000 * 3H * 6 » 12 1,512
o2g+g 980
—HHIB3M YRS &Y
70,000 = 3% * 43| 840
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SN B2
HE: NYHY YA (AYUDTHY /A HT)
&€ HdF2E X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
S EEEPREEEEEECES
70,000 * 28 = 13l 140
02 =224l 114,726 49,200 65,526
Oz3&E2= & HA 39,600
—ENLEE RERS 39,600,000 39,600
OA & ZEHI R XY 75,126
— RoZHIAIAE |RXE2 450,000 » 128 5,400
— SREQOAIAE 2XE=2 370,000 » 128 4,440
—3XJ BN B+ 10,000, 000 10,000
—HZFEIE A2AAN2E(RMS) X E= 55,286
StE RO 164,000,000 * 8% 13,120
L2ZEYA 42,166,000 42,166
202 oddl 1,440 1,440 0
BIERTE 1,440 1,440 0
OJl=sne ¥ TN YREN
20,000 » 28 = 3« » 128 1,440
e stddl 24 6,140 0 6,140
< 6,140
ZHsd DolHd=22X 24 6,140 0 6,140
< 6,140
301 gEtE L= 6,140 0 6,140
< 6,140
01 A3l EE & 56l = 6,140 0 6,140
Oged) 2HsH Iaidd2=2x X
6,140,000 6,140
< 6,140
FONX L e NIy 243 (Les3HY/Yurdl 713,100 596,700 116,400
&)
FOXX 2435 426,100 419,100 7,000
FURNXNEEH 29 426,100 419,100 7,000
201 L2l 161,000 156,000 5,000
01 At 22l 113,000 108,000 5,000
O e8| 59,000
— FUNMXAAEZE S 22 5,000,000 5,000
FOUXNXME T2 2 54,000
FOIXX NALR &2t
1,500,000 » 6JH =X * 23| 18,000
FOXXME LB 2H
500,000 * BIHE=H * 12& 36,000
o=2g=4¢ 54,000
—=UNXE FogFH ¢
30,000 = 25 » 6 » 123l 54,000
03 A2 Z Hl 48,000 48,000 0
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X ZH -
L= B

el

SR
FUNX 2 e W&
=0 XtR 2435t

i
Je
L
0x
ol

DD
a3y /et

02
0

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OF0XxEZ )N LHEF
2,500,000 * 6IHSH = 23] 30,000
OFUXNXN/AAZ FAS 9,000,000 * 23] 18,000
301 dBtE A= 265,100 263,100 2,000
09 HAIAHI EA =S 22,000 20,000 2,000
ONMZFOUXNX ST S A 2t
12,000,000 12,000
OFUXNXHEEH 2a+30t2ltia &It
2,000,000 * 23] 4,000
OFUXX|S X0y 40,000 = 150H 6,000
11 IIEtE &2 243,100 243,100 0
OFUXXHEHEH T2 89 2AS
30,000 * 10 = 68 » 11AI2F x 12& 237,600
Oz FOXXAE Ala 4,000,000 4,000
ORxZT=z)d 29 QdEE
500,000 * 3JH &l E 1,500
nsgy 43 287,000 177,600 109,400
=ZYEUHERKA 2= 287,000 177,600 109,400
201 et A | 72,000 66,600 5,400
01 AFR2t2l Yl 37,000 25,600 11,400
Ogt2H| 34,000
—EB223 2,000,000 * 23] 4,000
— AT (S H2) 1,000 = 1,0000H 1,000
— XFOH = AL DT M2 20,000 * 5008 = 23] 2,000
—Z2HNE s<9= 500,000 * 23| x 5 5,000
—=E8=2 ez 1,000,000 * 23] 2,000
—SFNMEZA ZHMRFEHS AL(EEE
I L DVOMIE) 20,000,000 20,000
ogxts 3,000
— NOHEA 232 I X
500,000 * 2 = 3 3,000
02 33249l 5,000 5,000 0
OZ2Z222Y4 A 5,000
—ANZ2F 2Hs XNE)s 242 5,000,000 5,000
03 A2 H H| 30,000 36,000 A 6,000
OXNMEA =& A Y IXHAE 4SS
S WF A} 30,000,000 30,000
202 04| 60,000 60,000 0
03 22AHR0H| 60,000 60,000 0
O=ZHugs F& 60,000,000 60,000
203 € R =&lY| 15,000 15,000 0
03 AIHZ=A SR =AH| 15,000 15,000 0




SN B2
M FONK Y (Y DRE A (YUDIUT/LUHET)
ool DREE 245 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZ2UHAuWE A =X (H) 15,000,000 15,000
301 dBEtE A= 80,000 36,000 44,000
06 Q12toI =22 04 b 20,000 0 20,000
O30l M2 N8 2435 20,000,000 20,000
07 QeI =& 0ib| 60,000 36,000 24,000
O=AXNMEA =3 60,000,000 60,000
401 AIEHIL 20| 60,000 0 60,000
01 A& bl 60,000 0 60,000
O=U2 XHEZAl JIEXxEZ &l
60,000,000 60,000
HHSHAH(S2W)(IIEH/IIE 8,570,857 6,697,217 1,873,640
QlERXAH|(EZ) 8,475,307 6,601,667 1,873,640
ol 2AH| 8,475,307 6,601,667 1,873,640
101 2124 d| 1,500,000 350,000 1,150,000
01 2 1,000,000 0 1,000,000
@R IS ESESS =4 1,000,000, 000 1,000,000
03 RIAHAEZZRE 500,000 300,000 200,000
ORJHsZ2z X EMNEAZ 500,000,000 500,000
303 A2 1,300,000 1,300,000 0
02 A= 1,300,000 1,300,000 0
O&dUAaH3 1,300,000, 000 1,300,000
304 H=22S=2S 5,675,307 4,951,667 723,640
01 =822 5,675,307 4,951,667 723,640
o282 5,675,307,000 5,675,307
JI2FH(E2 M) 95,550 95,550 0
Jl2&l 95,550 95,550 0
201 L2 Y| 40,186 40, 186 0
01 AP 2t2ldl 40,186 40,186 0
Ogt2H| 25,186
— Z2AEX 25,300 * 308tA * 53| 3,795
—SNEE=AX 60,000 * 30% 1,800
— 2A| %2l 250,000 * 43| 1,000
—SAI EY 220,000 ~ 83l 1,760
— A EH 114,500 * 63| 687
— A CH 240,000 * 43| 960
—TgE El 338,000 * 6CH * 33 6,084
—TZE &Y 1,400,000 1,400
— QUHIAIREE 2,000,000 2,000
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el

2 W
Hels B

SA - FE - BI(EA) - NRAY - By il
Ex(ItI2s8+1) 583,000 = 20K 1,166
EX(E2HEAT) 1,650,000 * 3CH 4,950
S (MR 504) 880,000 * 4CH 3,520

—XAsSHEFIEEE ¥ =8
75,000 * 87CH 6,525
—-2ENEE(Z.8H)
400,000 * 26% = 13 10,400
—2AENHHINERE S
120,000 » 52CH * 23] 12,480
—HUABEHZ 17,245
SS(HE) 120,000 * 2CH 240
sE(H&8) 110,000 * 18CH 1,980
SE(2E) 110,000 * 10CH 1,100
S2(38) 110,000 * 16CH 1,760
SE(HE) 594,000 = 1CH 594
SE(S5E) 335,000 = 20K 670
SE(AE) 264,000 = 6CH 1,584
st (HE) 594,000 * 3CH 1,782
-3 2 () 396,000 » 6CH 2,376
- SE2(aE) 165,000 * 11CH 1,815
SRS N2 S E2X12)
242,000 » 704 1,694
E(FHY 8) 330,000 = 504 1,650
OAE ZHI S X 4,000
—S3sZE20Y |IE=S 3,000,000% 14! 3,000
—HNXIERXE 1,000,000+ 14! 1,000
O Xt & Bl 631,540
—-sE(HE) 10,340,000 * 2CH 20,680
—-58(#s8 7,594,000 » 1804 136,692
—5&8(1¥) 6,802,000 = 10CH 68,020
- 5&8(Z¥) 6,400,000 * 16CH 102,400
—SE(HE) 10,312,000 = 1CH 10,312
- SE(5¥) 8,094,000 * 2CH 16,188
—SE(1E) 7,294,000 = 6CH 43,764
—SE(HE-E28=) 8,560,000 * 3CH 25,680
—SIE(FE-AEE) 7,489,000 = 6CH 44,934
— SIS (LE-AEE) 6,598,000 = 11CH 72,578
—SE:I(EAI) 6,914,000 = 304 20,742
— S+ (0IS=#=2IX) 8,357,000 » 2CH 16,714
— S&X(IIETAIE &) 7,548,000 = 704 52,836
202 44l 4,800 4,800
01 S LHOYI 4,800 4,800
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M pHols HEYS AN (LYUDDU/YUHE)
Sel YR SYN CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—SH2HIRR HEESEE=(2.89)
15,000, 000 15,000
OA& &8l X bl 8,600
—NEsLAM BED RANES 1,500,000 1,500
—HAMMIZNH SANES 1,100,000 1,100
—HLEE BMALAE RAE= 6,000,000 6,000
202 Odl 7,680 7,680 0
01 SLHAYI 7,680 7,680 0
OslAHY=R 20,000 *» 4 * 4 » 123 3,840
OAHAYSR 20,000 * 4% * 4 » 12& 3,840
203 YR =&l 3,000 3,000 0
03 AIF=AH 2 =AH| 3,000 3,000 0
OZH - B4 HR=FA 3,000,000 3,000
206 M= Hl 15,000 10,000 5,000
01 = Hl 15,000 10,000 5,000
OZHNgds=a XNAgSsLE5 2 15,000,000 15,000
OHMGHL BEE THA 22| (LS IS /UBEA) 931,216 1,426,232 A 495,016
< 5,000
s 926,216
=357 & 22 931,216 1,426,232 A 495,016
< 5,000
[ia 926,216
AN S ERAdS 2 874,216 1,369,050 A 494,834
201 Let24E] 795,416 842,250 N 46,834
01 At 22l 116,681 137,689 A 21,008
Oget=&H| 116,681
—EA22 ARE 18,000, 000 18,000
—sEa ARS 12,000,000 12,000
—MYIIEEHNEE 6,500,000 6,500
—3XJIEH ¥ a5 2,000,000%23] 4,000
—EAMYS 2 SEH3 Fa 4,000,000%23l 8,000
—=&,93 s JAHAESEH & BxsH
5,000,000 5,000
—ZEAMHE . StEHY HAHE RS>
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S3 2l 678,735 704,561 A 25,826
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ST = 500,000 = 12& 6,000
=ER2= 400,000 = 12& 4,800
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201 Let24d] 30,000 25,000 5,000
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HM: DX L 22X =2X SH(MIEX/LS)
S NBSX ¥ 50 |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 YAFLAANFEE 61,600 0 61,600
OXNdst&sd Liel =& 61,600,000 61,600
= 56,000
s 5,600
a5 0H 538,994 553,352 A 14,358
Xl 73,792
= 465,202
S22 MY 376,470 418,300 241,830
101 @14l 353,970 393,300 A 39,330
04 D12t 22 EE = 353,970 393,300 /39,330
OZ23222AMd 353,970,000 353,970
206 M= Hl 22,500 25,000 A 2,500
01 M= 4l 22,500 25,000 A 2,500
O3322AY 22,500,000 22,500
AL Rel X3 A 14,940 9,300 5,640
201 -4l 9,340 3,700 5,640
01 At 22l 6,700 3,700 3,000
Oger==gH| 6,000
— 2Tl dE 2el 500,000 = 12& 6,000
Oo=24d=+¢ 700
— NEEDIIYS SRS FuaT
70,000 = 5% * 23| 700
02 2324gHl 2,640 0 2,640
Oz22= & HA 2,640
— eI (LXeldH) 220,000 = 128 2,640
202 044l 3,600 3,600 0
01 S LHOYI 3,600 3,600 0
O gXeldH2d =& ol
20,000 = 3F * 5 * 123 3,600
203 YR =2l 2,000 2,000 0
03 AIBFAH S =AY 2,000 2,000 0
O DBEX ¥ 2ZNENEN Y2 EX
2,000,000 2,000
NASSHL R AL 147,584 125,752 21,832
X 73,792
s 73,792
101 124 dl 110,688 88,026 22,662
Xl 55,344
i 55,344
4 DIt Z2XREES 110,688 88,026 22,662
OXNEZSSH LXelAt 110,688,000 110,688
Xl 55,344
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DVEEX L 2L =X ST (AE=X/=S)
Aoty = SelEd)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
= 55,344
206 T2 I 36,896 37,726 ~830
Xl 18,448
2 18,448
01 =8l 36,896 37,726 A 830
OXNgEsH LAcl At 36,896,000 36,896
Xl 18,448
s 18,448
S(Mg - ZSA0| /LA &3 279,593 238,300 41,293
= 19,935
[ia 259,658
THeHAIE Alg2tel & 29 59,300 56,300 3,000
MMl AlE 22 ¥ |RES 59,300 56,300 3,000
201 LBt 26,800 13,800 13,000
02 22224l 26,800 13,800 13,000
Oget=&H| 3,000
—&olws WHHb S37g4l 3,000,000 3,000
o=zg=4¢ 10,000
— A& NE ZAE 10,000, 000 10,000
03323 2 HA 13,800
—52ANE HIIE= 700,000 = 128 8,400
—5ANE =223 400,000 » 12& 4,800
—SIMNERES 300,000 * 23] 600
307 gl2tol & 12,500 12,500 0
05 BIZHRI & 3 12,500 12,500 0
OJNBAFANEE == 2
15,000,000 * 60/100 9,000
O0IFANEFAEZ H== AAE
3,000,000 * 70/100 2,100
OFEBANFANEZ E== 2=
2,000,000 = 70/100 1,400
401 Al HI L =2 TH Yl 20,000 30,000 10,000
01 A& Bl 20,000 30,000 210,000
O52 A E SAZ2(3MA) 20,000, 000 20,000
g 4% XA 215,293 177,000 38,293
< 19,935
e 195,358
sS40l & a3 & 152,600 153,600 A 1,000
201 Yute | 10,000 13,000 ~3,000
01 At 22l 3,000 3,000 0
O e8| 3,000
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&? SA0Y 4% X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—JIgRA ¥ 2430 N 222 HMA S
3,000,000 3,000
02 =224l 7,000 10,000 A 3,000
OA& & HlI S X bl 7,000
—FBAAE(J1YS0SH )= A2l
7,000,000 7,000
202 04l 3,600 3,600 0
01 S LHOIYI 3,600 3,600 0
OZZEE & SAINYEE FANHI
20,000 » 3H » 5& » 128 3,600
203 YR =2 2,000 0 2,000
03 Al =AY R =& 2,000 0 2,000
OAH#ZAH R =AY 2,000
— 2430 L PRI YR=A 2,000,000 2,000
306 =932 137,000 137,000 0
01 &3 137,000 137,000 0
QAITHEESEIZ £A3(ZA01 243
el) 80,000
—32Jd 30,000,000 30,000
— LA 50,000,000 50,000
OBIE=SAIHXNAPMH &A= 50,000,000 50,000
OZINEESAINYEHIIS &9 7,000,000 7,000
A28 J|gEd He A 20,000 20,000 0
401 A& HI L 20l 20,000 20,000 0
01 A& HI 20,000 20,000 0
OA2m& JIgeadis 20,000,000 20,000
A2 JHEE HEA (BEX) 40,993 0 40,993
< 19,935
e 21,058
401 Al HIZ 2018 40,993 0 40,993
< 19,935
i 21,058
01 A& HI 40,993 0 40,993
O4Aa%2 J|ged He 40,993,000 40,993
< 19,935
s 21,058
JI=YHAY 1,700 3,400 A 1,700
307 21201 A 1,700 3,400 A1,700
02 It S AHE L 1,700 3,400 A 1,700
OJI==9HAY 1,700,000 1,700
Neazmagdyd 5,000 5,000 0
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ool MR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
St=XAXENE EAHS 5,000 5,000 0
306 ¢ 2 5,000 5,000 0
01 &3 5,000 5,000 0
Ost=XIAEMS == 5,000,000 5,000
Ol K& UK SS(& - A0 /00U XL XHE K 1,301,200 2,139,300 A 838,100
o)
= 101,000
s 1,200,200
=S40 HUX 08 1,301,200 2,139,300 838,100
= 101,000
s 1,200,200
OuUX etz o & 3,450 6,450 A 3,000
201 Let4d] 1,050 4,050 A 3,000
01 At 22/l 1,050 4,050 A 3,000
Oget==EH| 350
—Jtaotd el 22 40 MHA
70,000 * 50 + 13 350
Oo=24d=+¢ 700
—UuXIE &=
70,000 = 5% * 23| 700
202 (44l 2,400 2,400 0
01 S LHOIYI 2,400 2,400 0
OJA & A28d FAHH
20,000 * 2¥ * 5 * 123 2,400
SADLA BEAY 670,000 880,000 A210,000
402 RIZ2EX20l ™ 670,000 880,000 A 210,000
01 It =2 AL B X 670,000 880,000 A210,000
OZAINA AER K& 670,000,000 670,000
AN HX 2SS ALY 488,000 1,220,000 A732,000
402 RI2HX20l ™ 488,000 1,220,000 A732,000
01 A TtEAEER 488,000 1,220,000 A 732,000
O F=eX3AS 488,000
—JelE E3AY 288,000,000 288,000
— JelgelX ESAtE 200,000, 000 200,000
NBIE JtAAE HEAE 33,750 32,850 900
= 27,000
s 6,750
403 MHXSHHSA=0l& 33,750 32,850 900
= 27,000
s 6,750
02 S| 2 S0il CH SHCH & A B 33,750 32,850 900
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22 S8 WX 08 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OMBIE JIAAMEME XEAY 33,750,000 33,750
= 27,000
i 6,750
FHAHNE MY S8 AY 106,000 0 106,000
= 74,000
[ia 32,000
401 AIEBIZ 28I 106,000 0 106,000
= 74,000
[ia 32,000
01 A& HI 106,000 0 106,000
OFAHNE 88 S S ALY 106,000,000 106,000
= 74,000
i 32,000
SOIOHA (MY - SAD| /4 - AL AP 65,480 84,800 219,320
X220t etd 2te| 65,480 84,800 219,320
SoE 2 AHIAES 31,620 32,620 21,000
201 Let24dy] 13,220 13,220 0
01 At 22/l 13,220 13,220 0
Oget==EH| 10,980
—XNEZH 243 28 S8+
70,000 * 7IHA * 2B 980
— =Bl A EHE A
200,000 * 209H £ 4,000
— A ZFIZA 6,000,000 6,000
ozg=4¢ 2,240
— AU EHAO SRS BHL
70,000 * 8H « 43| 2,240
202 O4dl 2,400 2,400 0
01 = LHA YI 2,400 2,400 0
Ottt & AHIXNESEZR 0yl
20,000 » 2H = 5 = 12&8 2,400
203 PR =&l 10,000 11,000 21,000
03 Al =X A2 =X 10,000 11,000 A 1,000
OZHEBH gRF2 5,000,000 5,000
OXGZHEAS (L) 5,000,000 5,000
301 L2 A=z 6,000 6,000 0
09 &ALAHIB &S 6,000 6,000 0
O2INEMNRRE B4 100,000 » 5¥ » 12& 6,000
NEALAEZE S B2 33,860 52,180 A 18,320
201 LBH2EH| 33,860 32,180 1,680
01 At 22/l 22,580 22,580 0
O e8| 22,580
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&2 XYSIH aF e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—JtEAMEYEZE 2d 20,000, 000 20,000
—JIEAMZNEE EE2E MFE 2,580
- AMEIHAH 800 * 2,000 1,600
s 70,000 = 1474 980
02 3322l 11,280 9,600 1,680
OAIE ZHI S X 11,280
—&35H JIUE & HZQE ZZAAE KA
22| 940,000 = 128 11,280
HAE2AZH (F M) (OIEH/IIE) 37,887,556 37,501,438 386,118
= 213,112
< 199,000
[ia 37,475,444
ol 2y (Z M) 37,729,388 37,341,230 388, 158
= 213,112
< 199,000
i 37,317,276
ol 2| 37,473,788 37,040,630 433,158
= 29,512
< 199,000
e 37,245,276
101 @144 dl 34,895,038 34,581,100 313,938
= 29,512
< 199,000
i 34,666,526
01 2= 29,434,805 29,060,694 374,111
OJdles 19,859,098
-zex 82,117
3= 6,843,060 » 1€ » 128 82,117
— LBHA (A S HI) 80,890
4= 6,740,830 » 1¥ » 128 80,890
eI F-E 18,230,436
- 43 (288 3) 4,374,100 » 39 » 128 157,468
- 52 (308 2) 4,055,600 * 249 » 128 1,168,013
62 (255 3) 3,381,100 » 160 = 12& 6,491,712
72175 8) 2,713,400 » 193 * 128 6,284,235
- 82 (113 8) 2,095,700 » 118%F * 12& 2,967,512
- 92 (65 8) 1,572,200 » 60 * 12& 1,131,984
CHEBHSESMR(LHE 63)
29,512,000 29,512
= 29,512
- NEH 925,549
- A& (2453) 4,630,600 * 28 » 12& 111,135
- NEZAH23EE)
3,084,900 » 22H * 128 814,414
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—F2gota32(Le 83 XS A) 600,360
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10~154 0] 8¢ 60,000 » 1038 » 12& 74,160
- 15~20 0] ¢ 80,000 » 34H = 12& 32,640
- 20~25E 0| gt 110,000 = 139 = 12& 183,480
- 25480 & 130,000 » 173 = 128 269,880
OFSIPNES= 8,160
— 5= 80,000 » 28 * 12& 1,920
— 6= 60,000 » 28 » 128 1,440
—7=20l36t 50,000 » 8% » 12H 4,800
OJX&EE 338,760
— ST 40,000 = 3788 128 181,440
— SN=E 20,000 = 533 = 12&€ 127,920
— 2AIE(ATW) 50,000 * 4998 » 12& 29,400
OXdstHIEx+4 171,749
—Nssu 171,749
E=2X 443,100 = 118 « 43 19,497
12 X(9t) 433,880 » 32F * 43 55,537
2= Xl (Ih) 377,790 * 64F * 43| 96,715
Ooglg=¢ 15,360
-3 50,000 » 1298 » 128 7,200
- 40,000 * 178 » 12& 8,160
Otz 430,020
—4U=
4,055,600 = 5F = 128 * 4.8/100 11,681
—5l<
3,418,100 = 100 * 128 = 4.8/100 196,883
=10
2,817,100 = 105% * 12& * 4.8/100 170,379
— 72l
2,278,000 = 309 128 = 4.8/100 39,364
— RIS (Qapd)
418,304,736 * 2.8/100 11,713
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OZelge=+g(43)
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OJIsd=2+4Y Jiit=2 44,880
— JI A 30,000 » 100¥ 128 36,000
— AADA, S 20,000 » 32Y¥ 128 7,680
—2dF 10,000 = 10¥ 128 1,200
Ogaix= 6,600
— 10 AL 50,000 » 5 128 3,000
—Ch SR 30,000  10H 128 3,600
ogda4 1,584
— 62 32,000 » 14 128 384
—-72 25,000 » 49 128 1,200
Oplagesd 30,000* 50 128 18,000
OAZ=EXNERLE 100,000 * 52% 128 62,400
OMA=Y 20,000 » 79 128 1,680
OsHsY 70,000 = 1289 128 107,520
O&dAx< 32,856
—-72 38,000 » 14 128 456
— Mool & 270,000 * 10Y¥ 128 32,400
OQgga4 50,400
—82A 250,000 * 1294 128 36,000
- %2 150,000 » 14 128 1,800
—2ts 50,000 » 21H 128 12,600
O Y 600,000 * 21H 128 151,200
OAZ2ZAZ222E 2,170,219
- 53 11,591 = 243 = 33A|2¢ 128 110,161
— 62 9,886 * 160Y = 33A|2t 128 626,377
-7 8,930 * 193 = 33A|2t 128 682,503
— 82 8,017 = 118 = 33A|2t 128 374,619
- 93 7,247 * 60YH * 33Al2t 128 172,189
— X &z 11,419 = 29 « 33A|2¢ 12& 9,044
— Xl E Ak 9,322 * 22H * 33A|2t 128 81,214
— g2 R 114,112
6= 9,886 * 1 * 100Al 2t 128 11,864
63 (2H)

9,886 * 1 * 100Al2t 128 11,864
=2 8,930 » 3H * 100Al2t 128 32,148

A2t 2249 MRI4& ]
2,079,830,472%2.8/100 58,236
O&FHZAHI 130,000 » 584H * 12& 911,040

OY&E S|

19,829,582,120 * 1/12 = 60/100 * 23| 1,982,959
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M M
M HHE2HAH(Z M) (IIEH/IIE)
el QA2 (M) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O ¢ &l
19,829,582,120 * 1/12 * 86/100 = 1/30 » 15 710,561
2
02 JIEt A2+ 2,198,077 2,334,517 A 136,440
o¥azz 1,097,645
-JI2=23188) 2,933,700 » 20 *12& 704,088
—dRMHE=Z 704,088,000 * 2.8/100 19,715
—myosy
723,802,464 * 1/12 = 50/100 * 23] 60,317
—IE=4 16,800
- i Xt 40,000 * 208 » 12& 9,600
SLNE 20,000 = 20 = 12& 4,800
SAINE (M) 50,000 » 48 » 128 2,400
—NHESHExSY 8,006
-AssW 8,006
12 X () 433,880 * 2H « 43| 3,472
22 X () 377,790 » 3FH * 43 4,534
—EZ2+Eltit= 32,040
20~25 01 2t 110,000 » 3H = 12 3,960
25E 0] &f 130,000 » 18H » 12& 28,080
— Z W Z A 130,000 » 2098 * 12& 31,200
— g2l 140,000 = 209 = 12& 33,600
— S E S0t
723,802,464 = 1/12 = 60/100 * 23l 72,381
— JtE &l
723,802,464 * 1/12 = 1/30 » 15& 30,159
— o=l 50,000 » 199 » 128 11,400
— YR 30,000 » 48 128 1,440
—SHsZ2fH 70,000 » 48 128 3,360
— &g 38,000 » 1& » 128 456
— =g 40,000 * 1 = 123 480
— =g (&) 270,000 » 18 » 128 3,240
—ANZeZRH
8,221 » 20F = 34AI2+ + 12& 67,084
—ANAAZ Y HRIMLEE
67,083,360 » 2.8/100 1,879
OStAIE DM Jle2s 65,833
—Jles 1,515,200 = 3¥ * 12& * 0.8 43,638
—dRMHE = 43,637,760 * 4.1/100 1,790
—JE=E 10,317
- i< Xt 40,000 = 18 * 128 480
SLIE 20,000 » 18 » 128 240
A g A 130,000 » 3% = 12 4,680
g2 =4l 105,000 » 3H » 12& * 0.8 3,024
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A BB
M HHE2HAH(Z M) (IIEH/IIE)
¢hel: 2 (Z M) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oIS &b |
45,426,908 * 1/12 = 1/30 = 15 1,893
—NERLY
8,017 = 3H » 34AI2t » 123 9,813
—N22RLY ML=
9,812,808 » 2.8/100 275
OB TNAARZOHXNLES 63) 45,235
-2 45,234,056 » 1% 45,235
OABNEZ20H(NLY=sY 62) 48,337
-2 48,336,560  1H 48,337
OSAMUXIEMZEZOHXYAAE 73) 37,310
-8B+ 37,309,204 = 1 37,310
ONELANRZZHXNY=sY 72) 40,335
- 2= 40,334,608 » 1H 40,335
OGMNEZ20HALHEY 82) 70,056
-8+ 35,028,000 * 2% 70,056
OZHEBE20HXNLEALE 73) 37,310
-2 37,309,204 = 1 37,310
OSMARZ2HNE=s 73) 37,310
-2 37,309,204 = 1H 37,310
OYIIN M= 82,929
- &= 8,280
bH < Xt 40,000 = 5H *1 2& 2,400
SLIE 20,000 = 12% =1 2& 2,880
SAIE(AM) 50,000 » 5& » 12& 3,000
—SHEx+E 9,741
nsstu 9,741
132 X (JF) 433,880 * 3H « 43| 5,207
22 X () 377,790 x» 3FH * 43] 4,534
— IIH Altl=Y 26,877
- 62 9,603 *» 28 x 34Al2t x 123 7,837
= 7,970 » 48 « 34A12t + 123 13,008
- 82 7,392 x 298 x 34AI2t x 123 6,032
— I AlZe=" MHRIMHEE
26,874,960 * 2.8/100 753
— 2=t 50,000 = 8H = 12& 4,800
— ZWZ A 130,000 » 8¥ * 128 12,480
— g2 Ldl 12,960
6= 155,000 » 298 * 128 3,720
= 140,000 » 4H » 128 6,720
- 82 105,000 » 28  12& 2,520
— It AHHl
241,273,000 = 1/12 = 70/100 = 1/30 * 15 7,038
2




M 2HD
M HHE2HAH(Z M) (IIEH/IIE)
¢hel: 2 (Z M)
SA - ZE-B(EA) - NRAY - B S il &t o il
OBHENZZO0H(AZHEM AN Jt3) 28,464
-2 27,688,000 » 1H = 1.028 28,464
OFAXZE (AALESHAINH Li=) 69,061
-2 33,589,500 » 2H  1.028 69,061
OFAXZ A (AALHAINH L) 57,133
-8 27,788,000x 2H  1.028 57,133
Ot =sZ0F(AGHSMAINM CHS) 55,965
-8 27,220,000 » 2H « 1.028 55,965
OZIIHMZE2O0F(AGHSMAINHM CHS) 27,983
-8+ 27,220,000 » 1H « 1.028 27,983
OZHHMAZOHAIZTEEHRAINH 2t2) 36,819
- 8=+ 17,908,000 » 2 * 1.028 36,819
OZAIHEZ0HAIZTEERMAINM CHS) 29,848
-2 29,035,000 » 1H « 1.028 29,848
OUsHs2O0HAIZTEERMAINM 2t2) 18,230
-2 17,733,000 » 1€ * 1.028 18,230
OB I (MMM 2tz) 35,547
-2 17,289,000 = 29 = 1.028 35,547
OXSAMM(AMZEERMAINMN 2tz) 18,092
-2 17,599,000 » 1¥ * 1.028 18,092
OQEMIS(AMIEEMAINM 2tz) 17,443
-2 16,967,000 » 1¥ * 1.028 17,443
O2sSHL(MNLEEMAINN 2tz) 17,899
-2 17,411,000 » 1¥ * 1.028 17,899
OMEZHel(NZEERMAINM 2tz) 16,437
- 2= 15,989,000 » 1 * 1.028 16,437
OSLA(AIALHHMSIIM Ot=) 14,467
-8 14,072,000 » 1& * 1.028 14,467
OAZIEEH I =& 192,389
— &= 8,040
b < Xt 40,000 *= 8% = 12& 3,840
SIS 20,000 » 159¥ » 12&8 3,600
SAINE(AM) 50,000 » 18 128 600
—NESHExY 9,741
- NssW 9,741
12 X () 433,880 * 3H 43| 5,207
22 Xl () 377,790 » 3F * 43 4,534
— Azt 24 57,346
AZERL JtS
11,680 » 1H » 32A12H » 128 4,486
- AZHR Us
9,830 *» 28 = 32Al2t x 123 7,550
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A BB
M HHE2HAH(Z M) (IIEH/IIE)
el QA2 (M) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
AR T
7,704 = 6H x 32A12t » 123 17,751
- AIZHAN 2t
7,315 = 9H  32A12t » 123 25,281
- AIZHHN Ot
5,930 = 1H * 32AI2t » 123 2,278
— ANt ERIAIIH EIHE 50,000,000 50,000
—NA2RLY HROHE
57,342,336 » 2.8/100 1,606
— ZU=Al 130,000 » 19% = 128 29,640
— Az 26,860
AZERL Dt 200,000 » 1€ = 128 2,400
AZERL LS 187,500%2H «12& 4,500
AZER TS 113,875 » 6% = 128 8,199
AZHH et= 73,889 * 9H « 12& 7,981
- AZHA Ot= 52,5006 12 3,780
— HItB AH|
443,379,484 = 1/12 = 70/100 » 1/226 * 80 9,156
Al 2
03 RIAHA2 22+ 3,262,156 3,185,889 76,267
o4 2e 65,144
— el 1,262,890 = 29 * 123 30,310
—AHZ012E) 30,309,360 * 4/12 10,104
— S ZF It
30,309,360 * 1/12 = 60/100 * 23 3,031
—AN2AZ g (HaE 3EI)
9,290 * 2F * 30AI2+ * 12 6,689
—S22RFY 74,320 » 2% « 28 « 128 3,568
— RS FEII=E 41,300 = 28 * 20 1,652
—dA=Al 130,000 » 28 » 12& 3,120
— s EX 50,000 = 2H = 12& 1,200
—JtE=E 2,160
b < Xt 40,000 = 28 « 12& 960
SFAINE 20,000 = 5% = 12& 1,200
—AESHEZ+Y 1,736
nsstu 1,736
132 X (Ot 433,880 = 1H =+ 43| 1,736
— 22 (3E X 774
— o=l 200,000 » 2% * 23] 800
Od¥ass gREx 28,222
— Q12| 1,073,890 = 1&¥ » 128 12,887
—&40301¥x¢) 12,886,680 * 4/12 4,296
— S E =t
12,886,680 * 1/12 = 60/100 * 23l 1,289
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M 2HD
M HHE2HAH(Z M) (IIEH/IIE)
¢hel: 2 (Z M)
SA - ZE-B(EA) - NRAY - B S il &t o il
—ANZA2R Y (SE 48 1)
9,510 = 1H » 30AI2t » 123 3,424
—522F=E 76,080 » 1H x 2& » 122 1,826
R SPNE =RV Ea =, 42,280 * 18 = 20 846
— Z W Z A 130,000 » 1H » 128 1,560
—s2xdl 50,000 » 18  12& 600
—JE=E 720
i < Kt 40,000 * 1 = 123 480
F2IE 20,000 » 18 » 128 240
— 2K IA 3 (49 R 64,430 » 18 » 128 774
O LA(FLHAE) 33,693
— Q24 H| 1,124,200 = 1H * 128 13,491
—A0H2012+E) 13,490,400 * 4/12 4,497
— YEE I 1,350
— A2SI DR A (SE 28ER)
12,080 = 18 = 30AI2t » 128 4,349
— L2+ 96,640 x 1H » 2 » 128 2,320
—dsssit= 53,690 * 1¥ = 20 1,074
— W Z A 130,000 » 1¥  12& 1,560
—wnE2 X 50,000 » 18 » 128 600
— 25043 370,980 » 18 » 12&8 4,452
OFAZE(2EH, sgIIsdH) 123,410
— Q24 H| 1,073,890 = 4% * 128 51,547
—A0HZ2012+Y) 51,546,720 = 4/12 17,183
— B2 S0td|
51,546,720 = 1/12 = 60/100 * 23l 5,155
— AASITRAG (S 143 X)
10,680 » 4 = 30AI2+ = 128 15,380
—522F+E 85,440 » 4H » 2¢ » 128 8,203
R SPNE =RV Ea =, 47,460 = 4% » 20 3,797
— ZWHZ A 130,000 » 4% = 12& 6,240
—Ws2xdl 50,000 » 4% » 128 2,400
- &= 1,680
i < Xt 40,000 = 3% ~ 123 1,440
SLIE 20,000 » 18 » 128 240
— 23 (158 ) 225,510 * 49 » 128 10,825
— o=l 250,000 » 4H 1,000
OMNESAIXIIL ZALA 60,694
— QI 1,073,890 » 2% * 128 25,774
—aZ0I2E) 25,773,360 * 4/12 8,592
— S E St
25,773,360 * 1/12 = 60/100 * 23| 2,578
—ANZtAZ2 222 (HeE 69X
9,740 = 28 » 30AI2t » 12& 7,013
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A BB
M HHE2HAH(Z M) (IIEH/IIE)
el QA2 (M) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
—52I2R=E 77,920 » 2% x 2& « 123 3,741
— RS FIIE 43,320 = 28 * 20 1,733
— ZUg A 130,000 » 2% = 12& 3,120
—wWEs2 Xl 50,000 = 2H = 128 1,200
- 5= 1,200
bH < Xt 40,000 = 18 * 123 480
F2IE 20,000 = 3F = 12& 720
—AESHIEX Y 3,023
nsstu 3,023
232 Xl () 377,790 * 2% = 43] 3,023
— 22 (7TER) 96,640 = 2H * 12& 2,320
— O =4l 200,000 » 29H 400
O&stael 5 EX& 61,614
— el 1,073,890 » 2% + 128 25,774
—a0HZ2012E) 25,773,360 = 4/12 8,592
— EEF Ot
25,773,360 * 1/12 = 60/100 * 23l 2,578
— A2 R (= 138X}
10,550 = 2% = 30AI2t » 123 7,596
—S222Y 84,400 » 2% x 2& « 128 4,052
—dlmrsSFItsE 45,890 * 2% » 20 1,836
— Z Uz A 130,000 » 2% = 12&€ 3,120
— WS 2Ll 50,000 » 28 » 12&8 1,200
- &= 1,440
bH < Xt 40,000 = 18 = 123 480
SANE 20,000 = 4H « 128 960
— 22 (18E X)) 209,400 » 2% * 128 5,026
— o=l 200,000 = 2H 400
Okz&E=x¥ 839,975
— Q12| 1,389,330 = 1998 « 123 316,768
=) 199,000
= 117,768
—a0HZ012E) 317,560,800 * 4/12 105,854
— S E =0t
317,560,800 = 1/12 = 60/100 * 23 31,757
—A2A2 g (e 169 XH)
14,690 *x19% = 40AI2+ = 128 133,973
—SLZ2RFY  117,520% 19% = 28 « 123 53,590
— RS II=E 65,310 = 198 = 202 24,818
—dAasatl 130,000 » 19€ » 12& 29,640
— wWEB X 50,000 = 19% = 12& 11,400
—APEAFE 70,000 » 19989 » 12&8 156,960
—Ex0H8E 20,000 = 19% = 128 4,560
— =g 60,000 *» 19 = 12& 13,680
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M 2HD
M HHE2HAH(Z M) (IIEH/IIE)
¢hel: 2 (Z M)
SA - ZE-B(EA) - NRAY - B S il &t o il
— &= 11,880
- <Xt 40,000 * 159 = 123 7,200
S PAES 20,000 » 129 » 128 2,880
SAINE (M) 50,000 » 38 » 12& 1,800
—AESH XY 6,270
- 1Ss 6,270
12 X (OF) 433,880 * 1 43| 1,736
22 X () 377,790 x» 3FH * 43 4,534
— 2503 (178 X)) 333,440 <198 » 128 76,025
— I =l 200,000 = 199 3,800
OstZ0lst& 1,284,419
— Q1A H| 1,676,180 » 25% * 12& 502,854
—a02012+E) 502,854,000 * 4/12 167,618
— ZE SO
502,854,000 = 1/12 = 60/100 * 23l 50,286
—AN2AZ R (= 25EH )
17,510 » 2569 = 40A12t » 128 210,120
— 52
140,080 » 256 * 2 * 12& 84,048
— RS FEII=E 77,840 » 259 » 20 38,920
— W Z A 130,000 » 25% * 12& 39,000
— X A+E 31,920
s -9 70,000 » 18% » 128 15,120
A& & s ag 200,000 » 7989 » 128 16,800
—JtE=E 19,200
- <Xt 40,000 * 22% = 123 10,560
2LIE 20,000 » 318 » 128 7,440
SAINE(AM) 50,000 » 28 * 12& 1,200
— AESHI XY 9,741
- NsSsW 9,741
12 X () 433,880 * 3H x 43| 5,207
22 Xl () 377,790 » 3F * 43 4,534
— 22 (26 1)
419,040 = 25% * 12& 125,712
— o=l 200,000 » 25%H 5,000
ORI HL2Z (&7 3Y) 83,843
— QI 1,022,720 » 3% * 128 36,818
—AHZ012E) 36,819,000 * 4/12 12,273
— S E S0t
36,819,000 * 1/12 = 60/100 * 23| 3,682
—AN2AZR4g (SH&=0E Xt
8,620 * 3H » 30AI2t » 12& 9,310
—522f=Y 68,960 » 3% * 2& « 128 4,966
— s ssIt=E 38,330 » 3¥ » 20 2,300
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2N ZH D
M HESHBHI(Z M) (IIEH/IIE
Crel: olt2 oy (Z D) (el @)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— 3HEZAH| 130,000 = 3% = 12& 4,680
—nNEBXH| 50,000 *» 3 * 12& 1,800
—IIEY 2,880
bl < Xt 40,000 * 3% x 12& 1,440
c 22AILE 20,000 » 6Y * 128 1,440
P E = [y = 4,534
nE=y=igmi 4,534
%2z X (IF) 377,790 * 3Y x 43| 4,534
— I =l 200,000 = 3¥ 600
ORJIHLZZ X MHEAS 124,792
— QB A 700,000 » 5 3,500
— S84 500,000 » 59 2,500
— & oyl 500,000 » 2Y 1,000
L =N = 55,040 *» 1 * 1,050 57,792
—SREBAS 60,000 * 1€ = 1,000 60,000
O2JH%=2=2 X EXMNBEAZ 300,000,000 300,000
OAHLBEREHEZ 2,579,495,000 * 2.945/100 75,967
Ol ABH= 75,966,128 * 6.55/100 4,976
O=0d22E2 2,579,495,000 * 4.50/100 116,078
OnggEr"E=2 2,579,495,000 = 1.30/100 33,534
OB RS2 2,579,495,000 * 1.00/100 25,795
204 &R = A H| 1,285,560 1,287,120 A 1,560
01 MR- AY| 65,760 73,800 A 8,040
OXNBZHRHZH| 65,760
—-332(2=%) 650,000 * 1 x 12& 7,800
—43(822=*) 400,000 * 1H * 12& 4,800
— 43 350,000 * 2% x 12& 8,400
—sgJlsdEHAE 400,000 * 1€ = 12& 4,800
— A NE(53) 100,000 * 179 = 12&8 20,400
—B2AHAE Y SHE 150,000 » 798 * 12& 12,600
-85 - HF 50,000 » 7 = 12& 4,200
—HEWHZ2SUHE 80,000 » 14 = 12& 960
— 5 - Us0ASGAE 50,000 * 3 * 12& 1,800
02 =28 x4 985,800 979,320 6,480
O&zaE2 Xl 985,800
—-33(2%) 500,000 * 1 = 12& 6,000
—43 (B2 =) 450,000 = 1H = 12& 5,400
— 42 (sYIIsdEeHAE ZLE)
400,000 * 49 * 12& 19,200
—HZ(53-Nc ZLE)
250,000 * 249 * 12& 72,000
- 23(63) 155,000 * 160Y * 12& 297,600
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SN M
M HHE2HAH(Z M) (IIEH/IIE)
chel: ol eyl (FH D) (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—H3((73) 140,000 » 202% * 122 339,360
— &A=(893) 105,000 » 162% = 12& 204,120
— NS At 155,000 » 22H * 128 40,920
— DA (X XXIEH) 100,000 * 1€ * 128 1,200
03 EZYRFH 234,000 234,000 0
Ooera sl 50,000 » 390 » 12& 234,000
04 HIRESS 1,293,190 1,172,410 120,780
02 AL 2E S 1,293,190 1,172,410 120,780
OZBRJAAULEE 243 5,000,000 » 5H 25,000
OHZEERES 105,000,000 * 12& 1,260,000
O @ILEEE
1,260,000,000 * 6.50/1,000 8,190
AR = 15,600 15,600 0
= 15,600
101 124 dl 15,600 15,600 0
= 15,600
01 2= 15,600 15,600 0
OAANE=SH S5 15,600,000 15,600
= 15,600
SSMIASXNELHA KA 150,000 240,000 290,000
= 105,000
2 45,000
101 @124l 150,000 240,000 290,000
= 105,000
s 45,000
01 2= 150,000 240,000 290,000
O&l7 ASI=SXNSR3 edd X&
150,000,000 150,000
= 105,000
[ia 45,000
HESOH & AL EXE elAH| 90,000 45,000 45,000
= 63,000
[ia 27,000
101 @124l 90,000 45,000 45,000
= 63,000
e 27,000
01 2=+ 90,000 45,000 45,000
ONES0 d&t A= XA o2H|(3Y)
90,000, 000 90,000
= 63,000
[ia 27,000
Jl2Zd (2 M) 158,168 160,208 A 2,040
JlE2&l 158,168 160,208 A 2,040
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2N

=R

HH: AH2I3H (S HD)(OIEH/IIE)
el D23 (3 M)
SN B SR(EH) - MBAY - BES il
201 Lt 41,828 43,868
01 AFR 22l 41,828 43,868
Ogt=8Hl 33,828
— SAMEXI(AL) 25,300 = 30&f Xt + 128 9,108
—SAMI ENH 220,000 = 3CH = 33 1,980
— A =2l 200,000 = 3CH * 23] 1,200
—ZgH &l 338,000 » 10CH * 32 10,140
—ZEH =2 200,000 * 8CH 1,600
—ZeiZed &Y 400,000 = 3CH = 4A4 4,800
—HHNA, PHEEE 2 HH
2,000,000 2,000
—SANEELST. JsY. EEHAN s 7Y
1,000,000 1,000
— JBIAIR ES 2,000,000 2,000
O=etl 8,000
— A2 S20HAHI 8,000,000 8,000
202 044l 23,040 23,040
01 S LHOIYI 23,040 23,040
OJl=ge =d0tl
120,000 = 20 » 123 * 80% 23,040
203 ¥R =&l 93,300 93,300
01 J1Z22Z YR8 89,100 89, 100
oz 52,800,000 52,800
ORzZ=+ 36,300,000 36,300
04 EA2IYRFLH| 4,200 4,200
ORNMEEYRFIY 350,000 = 122 4,200
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J| 145,622
< 9,815
i 55,603
02 YAFAAFEX 211,040 166,046 44,994
O=eZs0lEHAY 211,040,000 211,040
J| 145,622
< 9,815
s 55,603
SE0s2 XNIEAY 93,577 33,582 59,995
< 28,073
s 65,504
307 gl2tol& 93,577 33,582 59,995
< 28,073
s 65,504
02 It M AHE L 93,577 33,582 59,995
O&E Ol=2 XA AY 93,577,000 93,577
< 28,073
[ 65,504
HASEA K& 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DI2HHALAISE E X 20,000 0 20,000
OHSHA 20,000,000 20,000
230z J83d XA 120,000 0 120,000
307 21201 A 120,000 0 120,000
04 QIZFHALAIH B = 120,000 0 120,000
OJlalsd N3 120,000,000 120,000
MRS e A AGEAY 80,000 0 80,000
< 40,000
[ia 40,000
307 21201 A 80,000 0 80,000
= 40,000
s 40,000
02 It S AHE L 80,000 0 80,000
OdeRslsssl XI& At 80,000,000 80,000
< 40,000
i 40,000
22 J|er 25 L A2 (S E/2HY) 2,489,796 1,919,253 570,543
2hZ AR ON Y 2,489,796 1,919,253 570,543
Actsd B 2d 2 1,560,467 1,136,197 424,270
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O o Al 22| 140,397
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—s542244 75,000 » 64 * 25¢ 11,250
—odg822 Xk 50,000 » 5 = 10 » 12& 30,000
— I =l 200,000 » 11 2,200
— 4 BE & 97,650,000 * 10.8% 10,547
OAEUWE ZHI(HA) 110,499
— Q12| 50,000 » 3Y = 24 x 12& 43,200
—F5¢22 75,000 * 3Y *» 25 5,625
—¢4E22 X 50,000 » 9% = 10 * 12& 54,000
— I =l 200,000 » 12 2,400
— 40 B & 48,825,000 * 10.8% 5,274
OXtetd stZAE- (A=) 32,600
A rals| 44,640 » 29 = 242 x 12& 25,713
—F5422 66,960 » 2 » 25 3,348
— I =4l 200,000 » 2¥ 400
— 40 BE & 29,061,000 * 10.8% 3,139
OXtcte BHOIAIAL (WS /MHEHO )22 32,600
— ol 2| 44,640 » 29 = 24 x 12& 25,713
—52422 66,960 * 2% = 25 3,348
— I =l 200,000 » 24 400
— 4 B2 29,061,000 * 10.8% 3,139
Ox==22| 29,601
— Qo124 d| 50,000 *» 29 x 242 * 9& 21,600
—-—52422 75,000 *» 29 = 20 3,000
—4EE = 24,600,000 * 10.8% 2,657
— I =l 200,000 = 2¥ 400
— 2tAH| 3,000 * 3Y *» 24 x 9& 1,944
OM=&g o] 38,710
— ol 2| 50,000 » 109 = 70 35,000
== 35,000,000 * 4.6% 1,610
— 2tAH| 3,000 = 109 = 70 2,100
282 A 604,060
AP 22| B 141,260
Ogst=2H| 126,260

—HILUASHEE FU(ARE E)
1,000,000 » 43| ~ 12& 48,000
- N&EA 2 d 500,000 = 12& 6,000
—&EAREFY 120,000 * 60K * 23] 14,400
—EES M (HEH) 1,300,000 * 33 3,900
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— O AAAE e =2 330,000 = 12& 3,960
—20oE =2 450,000 » 128 5,400
ogdxz 15,000
—E2LH 3L 250,000 * 203 5,000
— ZH(H&, 0s) 500,000 * 203l 10,000
02 =224l 462,800 442,800 20,000
OZ223223 ¥ HAl 297,200
—&lles €8 12,000,000 * 12& 144,000
—&otxk 23 HF 10,500,000 * 12& 126,000
—d3es U8 150,000 * 12& 1,800
—fEYes 4B 450,000 » 128 5,400
—SBE=(LeratM, H&EAH, =0IH)
10,000,000 10,000
— LYYl (6218) 500,000 = 20= 10,000
OA&EHl Sl 165,600
—NE=E 220 & W=D RFH
1,200,000 * 122 14,400
— 0lA&& CCTV s Xl 2el 450,000 » 128 5,400
— & sEA 2elx==2 300,000 * 6& 1,800
— JHctet Al = XIB 1,000,000 * 20= 20,000
—JHetgt AId R XIC 2,000,000 » 20= 40,000
—3308BAME ANERX 10,000,000 * 3= 30,000
— &SIt Yl X2t
1,000,000 = 3CH = 23| 6,000
—ALF W BIANERT
1,250,000 » 23] * 12& 30,000
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— SHO0IX H=SAHEH & RAE>
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CI2&X 40,000,000 40,000
401 Al& Bl 28I 532,000 125,000 407,000
01 A& HI 527,000 120,000 407,000
OXtets ZSEHLHE =8 170,000,000 170,000
OXtetd =&Z28otsA 243 50,000,000 50,000
OXtetd AlE s X2el 300,000,000 300,000
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Osds+3d AlER 58,374
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Ozgsa+s3 AIEIH 80,000
—SHS4+33 SEA 4AX 70,000,000 70,000
—S895+53 AME RAES 10,000,000 10,000
Olgtd 29 22| 367,129 508,397 A 141,268
101 2124 d| 40,329 45,697 N5,368
04 J|2ZtHZ2E2NESE 40,329 45,697 N5, 368
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— ol d| 44,640 * 29 * 242 x12& 25,713
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— I =4l 200,000 » 3Y 600
OUHMER LAIAIE R
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Oget=gH| 3,900
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02 33294l 117,000 117,000 0
OZ2Z22Z2Y A 27,000
—&olER3 150,000 * 12& 1,800
—MIR23 2,000,000 = 12& 24,000
- &2 100,000 » 12& 1,200
Od=H| 70,000
—0l3t& H=Hl 70,000,000 70,000
OAN & &HI S XY 20,000
—0l3t& AM&EF X 22 20,000,000 20,000
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01 A& HI 50,000 30,000 20,000
Oo0lgtd 1= 24 50,000,000 50,000
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Hl w

45,000

45,000
45,000

N 48,054

A 16,054
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30,000

30,000

H3r
Wikd
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54,998
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1,500
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Off &t 24
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3,400

12,480

12,480
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88,396

Jl

mH

11,628
76,768
88,396
88,396

o

mH

11,628
76,768
30,000

Il

i

15,000
15,000
30,000

1

7
=]

ol

0
gl

ok
80
0
<

ol

0
£l

30
0B
o)
oll

900,000 * 1CH
100,000 * 123l
1,700,000 = 200 £

25,300 * 5&8 X+ » 128

ARJI E

01 At2 2t 2l bl

30
0H
)
Ho

120,000 = 4004 = 128

Kl

)

4,000,000
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2A: 222 s
ZE: B OIY HE QL BR(SHUDY/BIY)
el BFEE L oy CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 5.000
= 15,000
01 AFR2t2ldl 30,000 0 30,000
Ooger249| 30,000
—0=20 2ZUHXNE ME 30,000,000 30,000
= 15,000
= 15,000
2T N 7,659,786 5,584,877 2,074,909
Xl 1,750,000
Dl 1,787,000
& 375,000
= 3,747,786
2+ X 2tel 150,986 254,077 A 103,091
101 @124l 13,726 12,817 909
04 JI2ZtH22XNHEE =+ 13,726 12,817 909
Ollg 22X 2el 13,726
— Q12| 44,640 » 14 = 20 ~ 128 10,714
-—52422 66,960 » 1Y = 25 1,674
—4EE = 12,388,000 * 10.8% 1,338
201 Bt A | 65,260 65,260 0
01 AP 22l Yl 12,800 12,800 0
Ogdet+=gH| 4,800
— XAl 22 400,000 = 12& 4,800
ogxs 8,000
— XX Xt 8,000,000 * 1JH 24 8,000
02 352494l 52,460 52,460 0
OZ2Z22 YAl 52,460
— 22X HIe=s 4,000,000 * 12& 48,000
— 22X SN2 30,000 * 12& 360
— 22X Iua HUEE 4,100,000 4,100
401 AIEHIL 20| 72,000 176,000 A 104,000
01 A& Bl 70,000 174,000 A 104,000
OarE 22X AIERA 70,000
- 2= &S 0 50,000,000 50,000
—0IX s 2t® B 10,000,000 10,000
— 222X AME RANE> 10,000,000 10,000
03 Al& 201l 2,000 2,000 0
O=&X AMEES 2,000,000 2,000
=EHA 29 335,800 335,800 0
307 QI2t0| ™ 335,800 335,800 0
09 2+HAHEXT= 335,800 335,800 0
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Id]
z|_|

2N

a2 s
M g JE HE Y B (BHULBT/2Y)
Sl BB MY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OzgdHas 28 BX 335,800,000 335,800
sH4AEX HEANTR =4 3,574,000 2,696,000 878,000
J| 1,787,000
[ia 1,787,000
401 AIEHI L 2 CHYI 3,574,000 2,696,000 878,000
J| 1,787,000
[ia 1,787,000
01 A& HI 3,564,000 2,686,000 878,000
OSBL 4MALE HENTD X4
3,564,000, 000 3,564,000
J| 1,782,000
s 1,782,000
03 Al 2 0HHI 10,000 10,000 0
OS82 +4ATE HEND X4
10,000,000 10,000
J| 5,000
s 5,000
atafltet AEALY F=A 99,000 99,000 0
201 Let24E] 99,000 99,000 0
03 &AL I 99,000 99,000 0
Oa&tict 2= OHAHE 99,000, 000 99,000
gclHel HOtsR Y 2,000,000 0 2,000,000
Xl 1,000,000
s 1,000,000
401 Al IR 201 I 2,000,000 0 2,000,000
Xl 1,000,000
s 1,000,000
01 A& HI 1,990,000 0 1,990,000
OZclHel Hot2d =4 1,990,000, 000 1,990,000
Xl 995,000
s 995,000
03 A& =2 THHI 10,000 0 10,000
OZclHel HOtEd =4 10,000,000 10,000
Xl 5,000
s 5,000
HOIMEHIJA2ABIBALE &5 1,500,000 0 1,500,000
Xl 750,000
< 375,000
s 375,000
401 AIEHI L 20 1,500,000 0 1,500,000
Xl 750,000
< 375,000
[ia 375,000
01 A& HI 1,450,000 0 1,450,000

- 136 -




EX: S3t22 =10
Hu: BB L HE Y 22(SHYLTBT/BY)
CHel: 2AZXE O e ®H)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
OGOINMETE ZSIAZZI|BIAILE &5
1,450,000, 000 1,450,000
N 725,000
& 362,500
= 362,500
02 2eldl 40,000 0 40,000
OOINTYBABZIIBAIL =5
40,000,000 40,000
Xl 20,000
& 10,000
= 10,000
03 A& E20HH] 10,000 0 10,000
OOINTYTABZIIBAIL =5
10,000,000 10,000
Xl 5,000
= 2,500
= 2,500
M2 (232 /250 =) 1,615,740 1,228,400 387,340
EMM= L MHEAE XK 1,615,740 1,228,400 387,340
AetdE Z2MMEHAEY JH = 454,500 564,500 A 110,000
201 LBt 9H]| 36,500 36,500 0
01 AP 22| H| 36,500 36,500 0
Ogbt4=24| 36,500
— MZAHAEY O0ICIH E82 35,000,000 35,000
—dAIRY 28 ¢ A28 F2Y 1,500,000 1,500
202 044l 3,000 3,000 0
01 2L Hl 3,000 3,000 0
OMZHAEIY FXI&SH 2H
20,000 » 5% x 102 * 38 3,000
207 I | 15,000 0 15,000
01 A2 EHH| 15,000 0 15,000
OXNdE=2HMEHAEY HOoIE2dH
15,000,000 15,000
307 gizto| A 400,000 525,000 A 125,000
04 QIZ2tSHAFALS B 400,000 525,000 A 125,000
OHM123 Xtetd MEAHAEEY 400,000,000 400,000
et IHEME XA 72,000 72,000 0
307 QI2t0| ™ 72,000 72,000 0
02 QI2tAAMAIE E =X 72,000 72,000 0
OMERMEH T2 & H)|Z2A 72,000,000 72,000
XNEEH g & 24 171,000 24,300 146,700
201 et d| 150,000 4,300 145,700
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2N

23512
PSP %;IT‘;;(§§PE—J%%/%§W|%)
Sl ZRNE L HEMEH X (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03 S AIS H I 150,000 0 150,000
OXteta (JAZZ) HelS2HH 50,000,000 50,000
OXeted s 22U 3 100,000, 000 100,000
203 ¥R =&H| 6,000 5,000 1,000
03 A =X SR =XIH| 6,000 5,000 1,000
O=H &43(d) 6,000,000 6,000
307 QI2t0| ™ 15,000 15,000 0
04 QI2tSHALAIE E &= 15,000 15,000 0
Ol ol =l 15,000,000 15,000
HE=HM M=l 918,240 567,600 350,640
201 LEt2 9| 537,980 538,400 N420
01 At 22l Yl 37,980 38,400 N420
OdetZ2H| 37,000
—AS2sH &2 35,000,000 35,000
—HARY 2B Y ARE 2
2,000,000 2,000
o294 980
—AHAZS2SHHAN EBIIRAG &Y
70,000 * 7H x 23] 980
03 S AIS H I 500,000 500,000 0
OHM63l Xctd AX H2FH 500,000,000 500,000
202 04| 1,860 1,200 660
01 2LH O HI 1,860 1,200 660
OHAEZEM =S 29 20,000 » 38 » 31 1,860
206 M = Hl 300,000 0 300,000
01 & bl 300,000 0 300,000
OAZESEH 502 Y| 300,000,000 300,000
207 A T OH | 15,000 0 15,000
01 A2 E&49Y| 15,000 0 15,000
Oftetd AA AN BIOtEY 15,000,000 15,000
301 dBtE A= 43,400 28,000 15,400
09 HALAHIEA S 43,400 28,000 15,400
OHESM XIS ALA 24
7,000 * 2008 * 31 43,400
401 Al HIL 200 20,000 0 20,000
04 ALt Al & b 20,000 0 20,000
OAS=ENE =4 20,000,000 20,000
HEae EH(23Y2Z/AF) 6,823,499 7,157,260 A 333,761
= 12,600
Xl 900,000
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SN RHBBHSD

M Ny 24 (2 2Z/HS)
ool MEIS S4 CER-ED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
J| 85,008
< 346,546
e 5,479,345
s 4 1,624,798 1,392,444 232,354
= 12,600
J| 85,008
< 34,046
e 1,493,144
MEHSXA HEX 189,504 189,504 0
J| 85,008
< 31,346
e 73,150
307 glz2+ol & 189,504 189,504 0
J| 85,008
< 31,346
e 73,150
02 HAFHAANGFEX 189,504 189,504 0
Oger MY XS BIXI(24H])
189,504,000 189,504
J| 85,008
< 31,346
[ia 73,150
T MBS 2435t 1,417,294 1,113,134 304,160
201 Let24E] 322,440 276,780 45,660
01 At 2t 2l 79,800 89,380 A 9,580
Oger==8H| 50,000
—d&I2(Z)H? ME2Us g2 HNE S
50,000,000 50,000
O2d+g 840
-~ HSNESII2 YRS FaLY
70,000 * 6H = 23l 840
O=gtl 8,960
—24Z Hsla 224 Sl
7,000 = 160 = 22 * 43| 8,960
Oogxz 20,000
—dI2(E)ee MEUa 2 X
20,000,000 20,000
02 =224l 242,640 187,400 55,240
O=323<HA 242,640
—B3AHSANE HII2S 240,000, 000 240,000
—ISHMSAE dot=ER23
220,000 = 128 2,640
202 O4dl 6,000 5,900 100
01 = LH 4 Hi 6,000 5,900 100
ESE daHsitia &0t & s
50,000 » 12¥ » 108 6,000
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2N

PRSI ﬂlu&é 4 (232 /HK)
chelr MEHS S4 (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
203 YR =&Y 7,000 5,000 2,000
03 A =X SR =XIH| 7,000 5,000 2,000
ONs &43(d) 7,000,000 7,000
301 dEtE A= 11,340 11,340 0
09 HAIAHI EA = 11,340 11,340 0
OF=Z(Z)HA MU NR=EALX
7,000 * 180Y * 98 11,340
307 212t0| & 1,068,114 802,914 265,200
02 DI2ZHF AALH B X 319,000 344,914 N25,914
O Meds g4 XA 319,000
C o9 Y XY MEMSUHS XS
450,000 *= 12CH 5,400
—E55Y HEgs 84 72,000,000 72,000
-2 5 24 18,000,000 18,000
— MEH XX 400,000 = 7H * 12& 33,600
— H263 ZIlE MEMNSUZsHE &8
118,000,000 118,000
—2015 S MEHE S80S =H
72,000,000 72,000
03 AN EESAHE=X 118,114 0 118,114
OdeE=s 84 XN& 118,114
—MEHF AIR=2 29 118,114,000 118,114
04 QIZISHALAIE B2 X 631,000 458,000 173,000
oMessdNd 91,000
—JIEZ4U(0]) S=2¢ MEMNsUHE WA 61,000
ahzled 6,000,000 6,000
- E=2Y W3 oHA 5,000,000 * 11HE= 55,000
— HOIE=HE 3 =3 Ha 1,500,000 *x 23] 3,000
— 2015 M=MEHFUSHE IHxl 20,000,000 20,000
—SS523d HOE=UE = 7,000,000 7,000
OF=Z(Z)HH MU MWK 540,000
—Edg) 8=2 T2 AI0IZU 3 80,000,000 80,000
—JlE Xt d=20I2AEWHS 70,000,000 70,000
— S AL E2 SIIZUS
30,000,000 30,000
— =203 (3HTHEl) 120,000,000 120,000
— 201548 (&) 2E=Ual 20,000,000 20,000
— ZEAHOIH HILADS 20,000,000 20,000
—d=Z2(E)H H=U 100,000,000 100,000
— S HESAZRHE2 A2 AZXS02IU
3 60,000,000 60,000
— HOIAF M= AP XA O3 40,000,000 40,000
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SN RHBBHSD

HY: MSAY S4(SLDZ/HS)
ool MEIS S4 CER-ED
= - = 4 &

SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
402 212t Xt=01 & 2,400 1,200 1,200
012 tEAMdEx 2,400 1,200 1,200

Odex=z X2 2,400
— 3 FH 1,200,000 = 2CH 2,400
HME=HS X A A 18,000 17,806 194
2 12,600
< 2,700
= 2,700
307 glztol & 18,000 17,806 194
= 12,600
< 2,700
T 2,700
02 I BAAMHEE 18,000 17,806 194
OAx= 2 0l22 18,000,000 18,000
= 12,600
£ 2,700
[Ea 2,700
d2H=E |4 1,590,201 1,637,038 N46,837

ANg d2Ms |4 684,860 811,252 A126,392
202 O 4l 4,200 4,000 200
01 = LHOHI 4,200 4,000 200

OS=Eg M=sUs 28 & WK
50,000 = 128 * 7¢ 4,200
307 glztol & 494,660 807,252 A 312,592
02 I HAMAEE 179,000 472,252 N293,252
oXg d2d=s X 179,000
— 53¢ uoteHd 29 28,000,000 28,000
—H 618 FIx M=sUs &
130,000,000 130,000
— M52 FI=FMAMSUH EH
4,000,000 4,000
—2015 ZoHel MU &4 5,000,000 5,000
—SUR F4A2 12,000,000 12,000
03 eAHNEE2EHIEE 115,660 0 115,660
OJtgxM=z 28 X 115,660,000 115,660
04 QIESHALALE B = 200,000 335,000 135,000
OoXNg d2H=E N2 200,000
—H1a HEZHSEH =S U N
5,000,000 5,000
—M123 HEZ=0 HATZUE =
5,000,000 5,000
—M73 JIEZHMSIEI =s2UHSE Mz
5,000,000 5,000
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SN 2ARBUSD
M Ny 24 (2 2Z/HS)
ol HEHS 34 CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— M6s JIEZMEE & 2EU3 HA
5,000,000 5,000
—HM27sl = -5 -0 U3 HF
15,000, 000 15,000
—HN2s JtEZM =& 2ECELUHE
5,000,000 5,000
—S% d=sUs 160,000
tEs, 389 30,000,000 = 2 =™ 60,000
ot 4H ot SH
25,000,000 * 404 100,000
308 XAHXIEHHSOIA 186,000 0 186,000
08 WEIIA20HetE = 186,000 0 186,000
Ostl2s? 186,000
—SuUNE 78,000,000 78,000
- 2NERN =4 108,000, 000 108,000
AF¥2sFIR 29 XA 905,341 825,786 79,555
201 L2l 350 350 0
01 At 22l 350 350 0
Oget=8l 350
— AOIEE & 89 70,000 * 52 350
206 M= Hl 50,000 40,000 10,000
01 =4l 50,000 40,000 10,000
OAMOIZ2E 28 2L (HH3, B0l )
50,000,000 50,000
301 et d = 808,991 739,436 69,555
Vo=t - 2S2S243 808,991 739,436 69,555
OZXFA2SZEII=R 244l XA 808,991
- == 319,127
DX 4,028,400% 1% » 128 48,341
o= 2,041,600 » 10€ * 128 244,992
Ediold 2,149,500 = 19 » 128 25,794
—32=¢
319,127,000 = 1/12 = 50/100 * 23 26,594
— dZ2==gotetza(5-104 018H)
60,000 » 18 » 128 720
—IJIE=Z(XNEA) 480
bH < Xt 40,000 = 18 * 128 480
— EEF Ot
319,127,000 = 1/12 = 60/100 * 23 31,913
— It &HHl
319,127,000 = 1/12 = 1/30 » 15Y 13,297
—Eg=g 200,000 » 129 * 12& 28,800
—=2¢ % Ha =&l 186,060
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S22 =
NSNS S8 (23U
Aels |4 SEREED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=&l 27,500 = 128 » 230 75,900
FSNESE ] 69,000 » 12% = 702 57,960
el =&l 87,000 » 12% = 502 52,200
—d=HEAS 20,000,000 20,000
—I=sH(g¢=E, 8= S 15,000, 000 15,000
—Zi= 35,000,000 35,000
— g2l 4,000,000 4,000
— =422yl 5,000,000 5,000
—dol2E= 6,000,000 6,000
—40 EE= 48,000, 000 48,000
—d>SHEXS 2,800,000 = 10& =+ 23| 56,000
— =S EH(HEAOISHY, SHIA A
S0W) 1,500,000 * 2= 3,000
— =48+ R4 10,000,000 10,000
405 XtAtE SHI 46,000 46,000 0
01 ML ESH SHI 46,000 46,000 0
OAIOIEE 29 36,000
—XEA (&2 4,000,000 = 3CH 12,000
—NEH Y (EH 8,000,000 * 3CH 24,000
OAOIZ2E =AU X 10,000, 000 10,000
HMEIIBAL &5 (EX) 1,900,000 ,473,311 A573,311
Xl 900,000
i 1,000,000
NBO2X M 2 1,900,000 ,373,311 A473,311
Xl 900,000
s 1,000,000
401 A& HIZ 201 Y] 1,900,000 ,373,311 A473,311
Xl 900,000
s 1,000,000
01 A& HI 1,900,000 , 373,311 A 473,311
OJg UM s2 1,900,000, 000 1,900,000
Xl 900,000
[ia 1,000,000
HSIIBAIL =2 (THAH) 1,708,500 654,467 54,033
< 312,500
[ia 1,396,000
SSHSAE FHI 766,000 , 100,000 A 334,000
401 Al HIZ 201 8] 766,000 940,000 A 174,000
01 A& HI 760,000 935,000 A 175,000
OMEN=SSEAS A& 10,000,000 10,000
OBFS M= Al & (3304 2= 50,000,000 50,000
OFEHUAZE E= 80,000,000 80,000
O4ad ettt 285F 40,000,000 40,000
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SN RHBBHSD

M Ny 24 (2 2Z/HS)
el MFINIBAE (XA (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZNNE N 84 92 9 952 &K
20,000,000 20,000
OZXEILUNSHEH Sl & AIAE WX
25,000,000 25,000
OJtEAUN=2 bte 2E 20,000, 000 20,000
OMESZ33 ZZANEES 5,000,000 5,000
Od&3lel HoESE HIJtE HHMEX
30,000,000 30,000
OudEel AHOoEEE HIE X8 E=
10,000, 000 10,000
osuisgel Mszd FH 30,000,000 30,000
O#% ZEMEHSTAZ AT &3
200,000, 000 200,000
OMSAE AX&C S&M X 50,000,000 50,000
OXSel HoE=2E ¥ HHEEHE &X
110,000,000 110,000
otigiel AoE=sd A=xaC0 £X
50,000,000 50,000
OdATEN T2 A FHI 30,000,000 30,000
03 Al2 S THHI 6,000 5,000 1,000
MEBHNSSIS NEES 1,000,000 1,000
O33 M=EAIE FHHl 5,000,000 5,000
SSHSAE EXNHY 50,000 454,467 AN 404,467
401 Al HIZ 201 I 50,000 454,467 AN 404,467
01 A& HI 50,000 454,467 AN 404,467
O=SHHUAE U2 EXNLE4 50,000,000 50,000
OF& Z&AE 312,500 0 312,500
= 312,500
401 AIEHI L 2 CHYI 312,500 0 312,500
< 312,500
01 A& HI 312,500 0 312,500
OMENS MISE 0F7E ZdAY
312,500,000 312,500
< 312,500
StHMEE3d =4 250,000 0 250,000
401 Al HIZ 2018 250,000 0 250,000
01 A& HI 250,000 0 250,000
OotddENssa XYL 250,000, 000 250,000
oD =G H WAL 40,000 0 40,000
401 AIEHIZL 20 40,000 0 40,000
01 A& Bl 40,000 0 40,000
O&a =g8F o4 B 40,000,000 40,000
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SN RHBBHSD

M Ny 24 (2 2Z/HS)
el MFINIBAE (XA (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HdAMETYNSSE =4 140,000 0 140,000
401 Al HIZ 201 Y] 140,000 0 140,000
01 A& HI 140,000 0 140,000
OLAMESE LAY 140,000, 000 140,000
SHMENSEISE =4 100,000 0 100,000
401 Al HIZ 201 8] 100,000 0 100,000
01 A& HI 100,000 0 100,000
O=sgdaEN=s3d =4 100,000, 000 100,000
sZJlsdH & &X 50,000 0 50,000
401 AIEHI L 20 50,000 0 50,000
01 A& Bl 50,000 0 50,000
Osgll=dd o2& 44X 50,000,000 50,000
s BE L 2A2(SSLHZ/23M) 456,571 589,607 A 133,036
< 474,000
A 217,429
HdEES & 2N ES 456,571 589,607 A 133,036
< 474,000
A 217,429
SERE B2 L FHU| 73,571 40,007 33,564
101 @124l 16,071 20,007 A 3,936
04 JIZHHNZ2Z 2RSS E+ 16,071 20,007 A 3,936
OBESN FHEY Iyl
44,640 = 68 * 120 + 53] 16,071
201 Let24d] 500 0 500
02 =24l 500 0 500
O=EsHE=E R=2882 500,000 * 14l 500
401 Al HIZ 201 I 57,000 20,000 37,000
01 A& HI 57,000 20,000 37,000
OHERE B 22 ZAM 27,000
— 2 etlHE 2=FHl 2,500,000 = 604 15,000
—E3SE dANES 1,000,000 * 120 & 12,000
OJtEew HEd oflME= 30,000,000 30,000
EXNE 23 2+ & FHl 365,000 70,000 295,000
< 471,000
[ia A106,000
307 21201 A 10,000 0 10,000
< 3,000
s 7,000
02 It S AHE L 10,000 0 10,000
Ot ZEH TEZAY 10,000, 000 10,000
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AN 22Z ML
FH: 2R B 2 H2(2}L2Z/2sM)
?e: 8IS23 ¥ 23M ES (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,000
s 7,000
401 A& HIZ 201 I 345,000 70,000 275,000
< 465,000
= A 120,000
01 A& HI 345,000 70,000 275,000
OO0I#ENIt HME = 250,000, 000 250,000
< 125,000
s 125,000
Oolgaza=z=a 2Tt 20,000,000 20,000
< 10,000
e 10,000
OJtE ESA NN E&XL
65,000,000 65,000
< 325,000
= A 260,000
OZXNEZs M &AE= 10,000,000 10,000
< 5,000
s 5,000
402 RI2EX20| ™ 10,000 0 10,000
= 3,000
[ia 7,000
01 22t AP E XL 10,000 0 10,000
O=23M LMHALAE SA2e B
10,000,000 10,000
< 3,000
[ia 7,000
M H20 ARH2HE 29 8,000 5,600 2,400
201 et 8,000 5,600 2,400
01 At 2teltl 8,000 5,600 2,400
O=3M 2t e 8,000
—MHEEZSM U2 100,000 » 2% = 402 8,000
22AHE HBEAHO MEXS 10,000 10,000 0
< 3,000
i 7,000
307 glz2+0l & 10,000 10,000 0
< 3,000
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—=HED| Z2AIH02 EII=2
3,000 = 250 = 12&€ 900
— EYHED| ZAIH SIHANEE
40,000 = 250H = 128 12,000
OA& ZHl KXY 21,250
— =Y ED| 2AI2HH 2t X122
850,000 = 25CH 21,250
202 o4 | 3,600 3,600 0
01 2L HI 3,600 3,600 0]
OHJIZ2 SYEI ©x ol
20,000 » 3¥ x 5 x 128 3,600
301 LBt A= 1,500 1,500 0
11 JIEtE A= 1,500 1,500 0
OMYD 8YHED Al TAZ 30,000 » 502 1,500
401 AlEHIZL 2 0HY| 12,000 22,000 A 10,000
01 Al& H| 12,000 22,000 A 10,000
O ED ZAI2t02H Old A& X
1,200,000 = 5CH * 23] 12,000

AL 345,672 356,702 A 11,030
101 Q124 H] 125,312 116,942 8,370
04 JI2ZtHIZ2 2 NEE S 125,312 116,942 8,370

OHJIZ2 2elizE HE o8 49,370
AR (EELY EE)
44 640 = 129¥ ~ 90 48,212
—E2E2(102 - &) 48,212,000 * 2.4% 1,158
OdtdH Mg o= o2 56,300
R (FRAY EH)
44 640 » 2H x 65 * 252 x 48 53,568
—E2E2(102 - &) 53,568,000 * 5.1% 2,732
OFESESMYII4eH 2 19,642
—oRY(FELY EH)
44 640 = 299 * 252 x 8 17,856
— 282 17,856,000 * 10.0% 1,786
201 et d| 208,360 204,760 3,600
01 A2t 2| H| 208,360 204,760 3,600
OYpt+2H| 198,760
—S2H AEEE ME(1258)
125 = 1,500,0000H 187,500
—HEHIIE =2 HEES AEH MHE
400 = 10,0000H 4,000
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2AM: 2F
FM: HIIE Mel ¥ UNFsH(S#FES/HIIS)

e HIIS22 2 Hel (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—SEHEZ2Ss 228 #@4% AN
70,000 * 604 * 33| 1,260
—ZEHHZESS SZE(0tH, EAH, &2
6,000,000 6,000
OYxtz 9,600
— D At ¥ NBEAX X
400,000& = 42 = g E 9,600
401 Al HI L 2 0HHI 10,000 30,000 A 20,000
01 Al&H| 10,000 30,000 A 20,000
9tXl - =0 - E2ES HJI=2 X2l 10,000,000 10,000
405 XHAHF S HI 2,000 5,000 A 3,000
01 XA 2 ZF S| 2,000 5,000 A 3,000
OMYIIZSSHH RHEAEE ST MHE(145)
2,000,000 2,000
LS &Y 0/E M2l NEAY 302,400 230,400 72,000
= 151,200
= 22,680
= 128,520
403 XX SHHS K20 & 302,400 230,400 72,000
= 151,200
= 22,680
= 128,520
02 SIS0 CHSHCHE AFS HI 302,400 230,400 72,000
OSZd0lE HMel XEAY 302,400,000 302,400
= 151,200
=} 22,680
= 128,520
CHEAMY 29 27,497 26,032 1,465
101 2124 H] 22,497 21,032 1,465
04 JI2ZtHIZ22NEE S 22,497 21,032 1,465
OLHEEAX SHEXRH 22,097
— =Y (EELY EE)
44 640 * 2 x 252 x 9& 20,088
— 282 20,088,000 * 10.0% 2,009
OLHAAX SHEXR O2H|
200,000 » 2H 400
206 M = Hl 5,000 5,000 0
01 X2 H| 5,000 5,000 0
OLHAEAXNSR2Y M2 H (BHE2HS 2 123
) 2,500,000 * 2CH 5,000
HIlI=22 K& 61,373 65,637 N4, 264
= 981
& 2,184
= 58,208

- 159 -




2N
X ZH -
L= B

el

3
HIIE Ml ¥ NS (SIES/HIISE)
HolS2l X+ s

A - ER(EN) - AR - B of & o4 SSa HIDZ2
HIIS HEE 28,000 28,000 0
201 fEt2E | 25,000 25,000 0
01 At2 2t 2l bl 25,000 25,000 0
Oget=ZH| 25,000
—HEES =HSF HMH 250 = 60,0000HK 15,000
—HJI=2 2cliiE 2= M= 10,000,000 10,000
401 AIEHI L 2 CHYI 3,000 3,000 0
01 Al&HI 3,000 3,000 0
onNg=ss 2cl+=HE X 300,000 * 1094 2 3,000
SZHHE =Hgcd=3 5,460 9,900 A 4,440
S 2,184
[a 3,276
301 Lot = 5,460 9,900 N4,440
£ 2,184
[Ea 3,276
NIEtE2d = 5,460 9,900 A4,440
OsZEHHE = del= 5,460,000 5,460
& 2,184
= 3,276
Us&H 22 26,932 26,747 185
101 @124 H] 14,732 14,547 185
04 JIZtN 22 XS+ 14,732 14,547 185
Ous&H 29 14,732
—oRU(EELY, Al EE)
44,640 = 1 » 252 = 128 13,392
—28= 13,392,000 * 10.0% 1,340
201 LBt2EH 12,200 12,200 0
01 At 22l bl 8,400 8,400 0
Oget=SHl 2,400
—lUs&dH 28 23 72 200,000 = 12 2,400
ogxz 6,000
—UsdH 4t Bz 500,000 » 12& 6,000
02 s3=4Hl 3,800 3,800 0
OZ2Z22=LHA 1,800
—dIIe= 40,000 * 123 480
—dotx=R=3 30,000 » 123 360
— &3 - Sdes 80,000 » 12& 960
O =H| 2,000
-=23) 29 2,000,000 2,000
SZEHHIE HelAg 981 990 A9
= 981

- 160 -



<

n0

Kio

Hl w

A9

A9

578,886

A5,806

1,094
1,094

5,850

A 4,100

A 14,250

H3r
Wikd
RIS

990

990

3,444,361

91,498

16,898
16,898

72,550

37,700

34,850

Off &t 24

981
981
981
981
981

4,023,247

i

85,692

17,992
17,992
17,292

15,000
1,500
792
200
500

66,700
33,600

7,600

1,200
2,000

200

1,800
1,800

600
24,000
24,000

18,250
5,750
2,000

2,000
20,600

ot

9

2|

=

o

HIl= X
HolE2 i

L=}
el

X ZH -

o
<0
H

1J
oll

981,000

(]
=

X el At

ol
=

= Tl b

=
=

MIEtE2d=
Os

30
O

-

D
Edl
o)
<H

[ud]

30
O

by

w

Edl
]
<H

oH

QI 24l
04 DIt 22 XS+

101

o0
IH

o]

nJ

ol
I+

ol

15,000,000 = 10.0%

3,000 = 1H » 22 » 12&
200,000 = 1

500,000 » 1H

OJIZtHMZ2 2 X Il=dl

44,640 = 18 » 28& « 12E

OJIZHZ22X H2HL

30
0
ol
all

el

01 At

ol

b
0
30
O

z
[
<H
o

100,000 122
1,000,000 * 23l

100,000 * 23l

ol

K0
00

Rr
00

U
<

I+

Ot
Y

by

w
Ed
o
<{H
o

150,000 = 12&
150,000 = 12&

Il

<
4

<0

&

Ok

50,000 = 12

00
<+

Rr

00

o
=

50,000 = 1H = 365
50,000 = 1H = 115&

D

oF
E

~

30
O

Ed
w
<H
o

2,000,000

30
0H
M0
Ho

15,000
600
14,400
600
600
5,000
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SN B
Hz: HIIE2 XMl ¥ KRS (E S/HJIS)
Sl GREHME 29 (B9 ®R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— W CCTVS Xl 22l 500,000 * 10IH 2 5,000
04 S S K H A EZHI 12,500 0 12,500
O2A2& &l 500,000 * 25 12,500
405 XH&HF S I 1,000 2,050 A 1,050
01 JtAY = ZF SHI 1,000 2,050 A 1,050
OLXWaN 1,000,000 1,000
SSHESHEAE 2 637,902 600,817 37,085
101 @121l 493,212 464,767 28,445
04 JI2ZtH 22 XNEE % 493,212 464,767 28,445
OMEE HEael 449,566
—SY(NLY, FELY TE)
44 640 x 269 » 282 x 12& 389,976
— 282 389,976,000 * 10.0% 38,998
— 2HANH] 3,000 * 269 * 22 = 12& 20,592
ON&TE 29 25,446
— QIR (NN FRLY T
67,570 » 18 = 28 « 128 22,704
—H2E2(102 - &) 22,703,520 * 5.1% 1,158
— 2HALH] 3,000 = 2% * 222 x 12&€ 1,584
OJI2tM 22 X 1l =4l 200,000 » 26 5,200
OJI2ZtHMZ2 2 X A2H & 500,000 * 26Y 13,000
201 Bt A | 95,290 86,650 8,640
01 At 22l bl 50,240 41,600 8,640
Ogst=2H| 14,240
—94ROtAT Y gXs 2 700 * 8,0007H 5,600
—HSMH fEHe 12,000& * 420 5,040
—H&ESR fEH 100,000& * 36E 3,600
Oexz 36,000
—JI2ZtH 22X E2HA 2 X
3,000,000& = 12&€ 36,000
02 352l 45,050 45,050 0
O2Z22Z2Y Al 650
—XNAHX Eeg2E= 500,000 = 1CH 500
— XNAHAX HIBAE 150,000 * 1CH 150
OH =l 5,000
—NESHEH 5,000,000 * 1002 5,000
OAE&EH |X 24,000
—MEsSHdEd 29 20,000,000 20,000
—2Z JHRR(F2A, 2Y) wEt
1,000,000 1,000
—2HMA=I| L AEIES 2SI A2
1,000,000 = 3CH 3,000
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SN B
Hz: HIIE2 XMl ¥ KRS (E S/HJIS)
Sl GREHME 29 (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
(@PNE=FaR=la:] 15,400
— XA Xk 7,700,000 = 2CH 15,400
206 M = Hl 9,400 9,400 0
01 X2 bl 9,400 9,400 0
OZ2Z2MEE2 HEAE s 2L 9,400,000 9,400
401 AIEHIL 20| 40,000 40,000 0
01 A& Hl 40,000 40,000 0
Os3sMEEs8d8Ad A2 40,000,000 40,000
HOIZMWE XN 29 1,029,339 629,312 400,027
101 2121 4| 44 459 42,252 2,207
04 JIZtHIZ22XNHEE 44 459 42,252 2,207
OANEEH2Y ol 25,767
— QIR (NAY, FRAY TH)
67,570 » 18 = 28 « 128 22,704
— 282 22,703,520 * 10.0% 2,271
— 2HANH] 3,000 » 18 * 222 = 128 792
oHZURg o8 17,292
— O QI (A 2FQI I B)
44,640 » 18 = 282 128 15,000
—H28a 15,000,000 * 10.0% 1,500
— 2HAH| 3,000 » 1 = 222 x 12& 792
OJI2ZtMZ2 2 X+ 1=l 200,000& = 29¥ 400
OJIZ 22X A2 X 500,000& * 24 1,000
201 et A | 108,380 112,760 A4 ,380
01 At 22l ] 40,780 53,920 A 13,140
Ogbt=2t| 37,780
—ANZSES2HE XN ELLLHEBA =22
4,500,000 * 10024 4,500
HEX =Y ZHA =2 22,480
Kot 8, &&=+ 2
160,000 * 109HA  12& 19,200
- Kot ™% 1, 2SS A= 1
160,000 * 2J A& * 42| 1,280
NES 2, SMIIA 3
100,000 * 5K & *x 420 2,000
—&E42 4 X Al 10,000 * 60E 600
—OHEX H=&Y 3,000,000 * 33 9,000
—HEAE 2228 7Y 100,000 » 12& 1,200
Oexts 3,000
—S2E3 ez 3,000,000 3,000
02 33249l 67,600 58,840 8,760
OZ2Z222Y4 A 4,600
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2N
X ZH -
L= B

el

M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
—ZSEgB8Es 3,100
-2 AH)| 700,000 = 1CH 700
-HEsls(g8ZEd) 1,200,000 * 2CH 2,400
—8I|&EAE 300
Exawll 100,000 * 1CH 100
Hes=S2(8ZEH) 100,000 = 2CH 200
— XS XA 200,000 ~ 3CH 600
—ANEE2 HEX HIQS(aAHE])
50,000 * 12& 600
OH ZHl 5,000
— I, s ANE 29 5,000,000 5,000
OA&E&EH |X 15,000
—HETXHEANE =FTEDZ X 22
5,000,000 5,000
— HZAIE KX 22 5,000,000 5,000
— =& JHS K22 5,000,000 5,000
(@PNE=FaR=1a:] 43,000
— =24, W32 43,000,000 43,000
206 M = Hl 36,500 44,300 AN7,800
01 X2t 36,500 44,300 A7,800
OASAHE(&EH) 25,000 = 22l & * 1503 7,500
O=s&EM 100,000 * 200CH 20,000
OM&Zg detz2ts ¢ 10,000 * 400% 4,000
=MD HEHZSH 2,000,000 * 1€ 2,000
rEMY D ZTEEE 60,000 = 302 1,800
OE27¢ 100,000 » 12& 1,200
401 Al HI YL 2 0HHI 840,000 430,000 410,000
01 A& HI 840,000 430,000 410,000
OHJIZME X KX 2L 30,000,000 30,000
ONEANE DH 10,000, 000 10,000
O X =My Il Hel 500,000,000 500,000
O3CHH HE X MY ==X 300,000,000 300,000
MEHIIZS MMl AlE(MBT) 2 ,270,314 2,122,734 147,580
201 L2 | 600,980 601,960 980
01 At 22l bl 980 1,960 A 980
O = 980
—HIISH2ANEFHNSFUXNE2AM 3
oM Y 70,000 * 74 x 23] 980
02 3324l 600,000 600, 000 0
O2Z222Y Al 600,000
—MIR22 50,000,000 = 12& 600,000
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2A: 230
HM: HIIS Mo ¥ NS (HIES/HIIS)
ool RA=BUE 2 CER-ED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
207 & 51 JH & Hl 22,000 0 22,000
01 A2 EAH| 22,000 0 22,000
OWEHII= dHMIAE REHS 2I1ME 8
9 22,000,000 22,000
307 glztol & 1,647,334 1,520,774 126,560
05 2zt & =3 1,647,334 1,520,774 126,560
QHEHIIE2 AXMlAE AE2LAY
1,347,334,000 1,347,334
OHEMHII= dXMIAE MENL S
300,000,000 300,000
HY 2B (2Z D) (IIEHIIE) 57,900 58,372 NA4T2
o=l (22 ) 57,900 58,372 ~472
Jl=ZHl 57,900 58,372 N4T2
201 LBt2 S 35,250 35,362 A112
01 At 22l bl 35,250 35,362 AT112
Oget=gH| 30,450
— S ALSXI(A4) 25,300 » 128A » 12 3,644
—SANEEDE € HIESE 2,000,000 2,000
—dTUE A SR 3,390
- EUHIIECIA 220,000 = 304 * 43 2,640
- SAI =2l 250,000  3CH 750
— Xl |X2e 13,510
- EUILECIX 338,000 = 10CH = 23 6,760
- EUItERIXI(Zet)
400,000 = 5CH * 33 6,000
e 50,000 » 1504 750
— WA EY 114,500 » 200 = 23 458
—d2sJ &5 14,000 » 11CH » 122 1,848
—SZ2ENA A 120 » 55 » 1,0000K 600
—SF2EE AT Y 100,000 = 10& 1,000
—JIZ2MNEES 4,000,000 4,000
O=&Hl 4,800
—AN2AZ2A E20 4] 4,800,000 4,800
202 o4 4 16,560 16,560 0
01 S LHOYI 16,560 16,560 0
HEFAI|=2ZH|
120,000 = 238 =+ 12& = 50% 16,560
203 R =& 4,200 4,200 0
04 FAE2IESFAH 4,200 4,200 0
ORN2LYRF&HI (&3 0) 350,000 » 128 4,200
405 At&tE =H| 1,890 2,250 A 360
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2M: 83
X E: BHE
L= B

A 2H A
S RPIEEIEE (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 XA 2B F S| 1,890 2,250 A 360
O Xt 180,000 * 34 540
OzH At 1,350
— A= 250,000 = 34 750
—H4 200,000 = 3K 600
HEES(SHFY)(HEBES/AGIEE - 2=F) 3,454,298 1,808,059 1,646,239
WEHH KNS (A ) 3,452,298 1,807,059 1,645,239
LHEAHH K= 3,452,298 1,807,059 1,645,239
701 JIEIS HENEZ2 2,060,369 443,000 1,617,369
01 JIEtS HEE2 2,060,369 443,000 1,617,369
=EINASHAELEFH M= 2,060,369
—sEouUEBBR O|HEI 2
3,000,000 3,000
— SN MEHoIA 22 ALY 835,500,000 835,500
—HELLENHZAIAE 22| 12,000,000 12,000
—AZOUNAANY X 1,200,000,000 1,200,000
—FOUXNRAY I L BRERY
9,869,000 9,869
702 1282 138,957 69, 396 69,561
MosEE2 138,957 69, 396 69,561
OHIISHEAIE F=HEHIYE F0X2I)2 A=
= 138,957,000 138,957
705 Q=222 24as 1,252,972 1,294,663 AN41,691
01 == S4AE 1,191,190 1,191,190 0
OHJISHEHeIAL (MBT)EX Sg22)2 8
A 2 4EH(2010,2011) 1,191,190, 000 1,191,190
02 Ol == 0| X+H4t &t 61,782 103,473 A41,691
OHJISHEHeIAIL (MBT)EX Sg2e)I2 8
Kb Ol XHAHEH(2010,2011) 61,782,000 61,782
BHEX= 2,000 1,000 1,000
BEI= 2,000 1,000 1,000
802 Bt&t = DI Ef 2,000 1,000 1,000
03 =S 2,000 1,000 1,000
OZEHMAHEE £ HEHIIZ2 =55 &=
2,000,000 2,000
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2015 = =0 & LS &

2N
X ZH -
L= B

el

Ol &b A

[IA]

x
i

Al

o

A

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

2
o

HHn =

7,877,495
2,078,122
857,976
666,398
4,274,999

8,264,106

rx

]
>
o
ton
Ol
]
%
02
i
[P
~
0e
)
[Pa

1]

H

Mo =

4,938,989
1,631,789
828,976
411,398
2,066,826

5,971,087

1,032,098

P
o
b=
o
P
0x

Mo H

2,281,381
1,211,069
335,453
734,859

2,294,608

N 13,227

MR

321,930
180,555

16,843
124,532

185,743

136, 187

201

e
=z
H0
02
&=

M A

6,000
3,000

900
2,100

3,000

3,000

01 At 22l bl

6,000,000

MW

6,000
6,000
6,000

3,000
900
2,100

3,000

3,000

401 AIEHIZ 2 I

MW

315,930
177,555

15,943
122,432

182,743

133,187

01 A€ dl
OXZ A

—ZH=

X8 (154ha)

02 Zeldl
OZdH= Zcl(109%ha)

264,375,000

Mo A

29,001,000

Mo A

22,554,000

HH A

293,376
293,376

264,375
147,266
9,563
107,546
29,001
14,501
4,350
10,150
22,554
22,554
15,788
2,030
4,736

162,703

20,040

130,673

2,514
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2N
X ZH -
L= B
el

[z iz

0V gu g
Z_‘_ \—_T—J
o
tol
OF
o
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02
1>
x
-
0o
Q
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o
P
0x

x

i

SA -

Ha - el (3H) -

N2 A

01
o

0l &t o

=

i
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FA

o
=
1]
H
=

8,000

,000

N
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e
«
Mo
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=

3,000

,000

o
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=
Mo
02
=

3,000,000

3,000
3,000

,000

RO 02
1z
o
e
Ooh
=

10
i
[pal
=5

N
o

5,000

,000

o
wW| w

=
2
i
[pal
R
i
A
=

O
=
o
pal
kY
N
0x
=
2
i
pal

5,000,000

5,000
5,000

,000

04

J2
H>
=]
+
S

Mo A

1,056,155
528,078
158,423
369,654

1,001

, 746

A 35,591

401 AIEHIZ 2 I

HH A

668,905

334,453
100,336
234,116

828,

590

A 159,685

01 AlEH
OX

40t
LS JFR D[ (240ha)

rm J”

—oRue

2t 1 (50ha)

— X2 Xt RI|(150ha)

02

DU

fc|
O& &= JH3 D] (440ha)

=

03 Al S THHI
OF = IR I ALY (690ha)

409,305,000

MW

60,200,000

MR

164,400,000

HH A

30,000,000

MW

5,000,000

HH A

633,905
633,905

409,305
204,653
61,396
143,256
60,200
30,100
9,030
21,070
164,400
82,200
24,660
57,540
30,000
30,000
15,000
4,500
10,500
5,000
5,000

2,500
750
1,750

793,

30,

590

000

,000

A 159,685

402 BI2FX=01 M

MW

387,250
193,625

58,087
135,538

263,

166

124,094

At HI
37|

387,250
387,250

263,

156

124,094
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2N
X ZH -
L= B

el

— tHel3 A (150ha)

— Z& Xt I1(100ha)

277,650,000

MW

109,600,000

MR

277,650
138,825
41,647
97,178
109,600
54,800
16,440
38,360

Mo R

351,821
179,911

51,572
120,338
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=

MW
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166,743
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i
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O
0H
e oy
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N
o
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266,928,000

Mo

8,000,000

H

50,558,000

Mo R

325,486
274,928
266,928
133,464

40,039
93,425

8,000
8,000
50,558

25,279
7,583
17,696

MR

21,835
10,918
3,275
7,642
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10
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o]
[=s

O
e
c
1
0o
==

|
Pl
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1
e
=

9,835,000

Mo H

6,000,000

MW

6,000,000

HH A

15,835
9,835
9,835

4,918
1,475
3,442

6,000
6,000
3,000

900
2,100
6,000
6,000
3,000

900
2,100
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SN S
Ha: MY R

r
tol
Ot
o
%
02
1>
x
g
0e
Q
x
I

ool MEXRTA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 3,000 2,500 500
09 HALAHIE& S 3,000 2,500 500
OLL=AHAHE &Il XA 3,000,000 3,000
REMAD|IBE XY 6,000 0 6,000
= 4,200
< 540
[ia 1,260
402 RIZ2FXt20l ™ 6,000 0 6,000
=2 4,200
< 540
[ia 1,260
01 A TtEAEEX 6,000 0 6,000
OE=dut 6,000
—SEIZE(1HA) 6,000,000 6,000
= 4,200
< 540
[ia 1,260
=X3AEH 749,557 1,001,179 A 251,622
= 57,000
Xl 120,000
[ 572,557
dz B33 ALY 374,452 456,665 A82,213
101 @14 dl 201,952 203,065 A1,113
4 JI2ZHHZ2XRHEES 201,952 203,065 A1,113
OEZZ3stAY 2y 201,952
— QI 44,640 » 129 » 200 107,136
— oIl 44,640 = 5F * 50 » 65 66,960
— 428 = 174,096,000 » 16% 27,856
201 24l 4,000 12,600 A 8,600
02 =224l 4,000 2,000 2,000
OAIE ZHIS X 4,000
—Z2XH FH RXH(HZEI +2 S)
4,000,000 4,000
203 YR =2l 4,000 4,000 0
03 A FXH S Z=AY| 4,000 4,000 0
outd gR=& 4,000,000 4,000
206 M= Hl 64,500 107,000 A 42,500
01 =8l 64,500 107,000 A 42,500
OBLZH ANYE 22, 2M S 7Y
500 = 115,000=2 57,500
OMMTL (% 2 208) 3,000,000 3,000
OZHI=&RU 4,000,000 4,000
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SN S

EHa: &g' Aol Lo/ - &E)
el sN33axd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 100,000 130,000 /30,000
01 A& HI 100,000 130,000 230,000
Ozd F2AZHONLel, &0 S ATHAIE)
10,000,000 * 54 & 50,000
OoL=R2d Hel=&EAMEOIES)
50,000,000 * 1JH 4 50,000
z = 2l 78,105 78,514 A 409
101 @144 dl 46,605 43,514 3,091
04 JIZHHZ2XRHEE S 46,605 43,514 3,091
Odtzs2eag e 46,605
— QI 24 H| 44,640 » 69 » 150 40,176
— 42 = 40,176,000 * 16% 6,429
401 Al HI L 2O HI 31,500 35,000 ~3,500
01 A& HI 30,000 30,000 0
Ot ZEAY =& 30,000
-2+ =4 & AZ=2e 30,000,000 30,000
03 A& S THHI 1,500 5,000 A 3,500
Otz =8 & AZz2el 1,500,000 1,500
2= 24 40,000 0 40,000
Xl 20,000
s 20,000
401 AIEHI L 201 40,000 0 40,000
Xl 20,000
s 20,000
01 A& HI 38,000 0 38,000
OJtz 424 (1km) 38,000,000 38,000
Xl 19,000
s 19,000
03 AIE 2 0HHI 2,000 0 2,000
O24=E 4 (1km) 2,000,000 2,000
Xl 1,000
[ia 1,000
dEEds Iy 200,000 406,000 A 206,000
Xl 100,000
[ia 100,000
401 AIEHI L 201 200,000 406,000 A 206,000
Xl 100,000
i 100,000
01 A& HI 197,000 403,000 A206,000
Qugstd= X4 (1ha) 197,000,000 197,000
X 98,500
s 98,500
03 AIE 2 0HHI 3,000 3,000 0
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SH: AT
HE: MY NS (SYHS /LY - 4E)

Sl SXBAEY (el @2)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

OMetstd= T4 (1ha) 3,000,000 3,000
Xl 1,500
[Ea 1,500

AAANE SHZ2 = 57,000 0 57,000
= 57,000

401 AlEHIZ R0 8] 57,000 0 57,000
= 57,000

01 Al&HI 54,500 0 54,500
OAAAE =MZ20 ZH(1HA) 54,500,000 54,500
= 54,500

03 AlE 2 CHHI 2,500 0 2,500
OxAAE SMZ2t Zd(1HA) 2,500,000 2,500
= 2,500

MEsLExY 563,560 1,368,034 A 804,474
= 113,780
N 118,000
= 6,375
= 325,405

AEAMEIA SE 28,512 28,004 508
2 14,256
[Ea 14,256

101 1248l 28,512 28,004 508
2 14,256
s 14,256

04 D12 RZ22 TS 2= 28,512 28,004 508
O A= el (1Y) 14,256,000 14,256
= 7,128
= 7,128
OstW=3CIUIO0IH (1Y) 14,256,000 14,256
= 7,128
s 7,128

T EYE el 100,000 70,000 30,000

401 AIEHIZ S CHYI 100,000 70,000 30,000

01 AlZHI 100,000 70,000 30,000
OZSMAZFTAE AEIHES A 100,000,000 100,000

A ME - 2SS SIS 236,000 930,000 694,000
Xl 118,000
[Ea 118,000

401 AlEHIZ R0 8] 236,000 930,000 694,000
X 118,000
= 118,000

01 Al&HI 236,000 930,000 694,000
Otz dEl 28X =4 236,000,000 236,000
Xl 118,000
= 118,000
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2N
X ZH -
L= B

el

Arel D
MY NRSHSPHYSL/Ye - ahE
N EYRETY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME M A0 114,048 140,030 A 25,982
2 57,024
e 57,024
101 @124 dl 85,536 110,024 A 24,488
= 42,768
s 42,768
04 D12t Z2XREES 85,536 110,024 A 24,488
O=di&o(2Y) 28,512,000 28,512
= 14,256
i 14,256
O=Mef2elel(2y) 28,512,000 28,512
= 14,256
i 14,256
OKtEMEIDIS2HOILIM (2Y) 28,512,000 28,512
= 14,256
[ia 14,256
307 21201 A 28,512 28,006 506
= 14,256
[ia 14,256
02 LAFAAFEX 28,512 28,006 506
O=S23CUO0IH(2Y) 28,512,000 28,512
= 14,256
i 14,256
sl SEMHltS 85,000 0 85,000
= 42,500
< 6,375
s 36,125
401 Al HIZ 201 Y| 85,000 0 85,000
= 42,500
< 6,375
s 36,125
01 A& HI 83,000 0 83,000
Ot FAAL FUAMEIEAL 84 83,000,000 83,000
= 41,500
< 6,225
s 35,275
03 AlZ S THHI 2,000 0 2,000
OdEF AL 22l 2,000,000 2,000
= 1,000
< 150
s 850
s R N RSl N 849,251 984,230 A 134,979
X 590,976
i 258,275
LT AlE(ZHl) 844,251 979,230 A 134,979
Xl 590,976
[ia 253,275
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SN S

FH: M NS (sEoEa/gy - &E)
SRR CET-PICESE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 124 dl 15,600 15,600 0
Xl 10,921
e 4,679
04 12t Z2XREES 15,600 15,600 0
Az ze A 2% + 6,300,000 12,600
Xl 8,821
s 3,779
Ogzzeld B8 8 3,000,000 3,000
Xl 2,100
i 900
401 A& HIZ 201 I 828,651 963,630 A 134,979
Xl 580,055
s 248,596
01 A& HI 805,651 937,630 A 131,979
AT AIA 805,651
— 2hd 2 & (2km) 411,292,000 411,292
Xl 287,904
i 123,388
— & & (2km) 269,958,000 269,958
Xl 188,970
s 80,988
— 2 EI0 & (1km) 66,619,000 66,619
Xl 46,633
s 19,986
— 2 & 84 (10km) 45,000,000 45,000
X 31,500
[ia 13,500
— AFE & A (1km) 12,782,000 12,782
X 8,948
i 3,834
02 Zteltl 21,000 21,000 0
O T ALY 21,000,000 21,000
Xl 14,700
[ia 6,300
03 A2 2 THHI 2,000 5,000 A 3,000
OLEAY =& 2 A=zl 2,000,000 2,000
Xl 1,400
s 600
AT A& (Z2HI) 5,000 5,000 0
201 ¢et24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
ogxtz 5,000
— g% SX2el Fdl It 5,000,000 5,000
MY AS A 495,240 323,036 172,204
= 249,940
< 69,570

- 175 -




SRR}
HE: AR RS (SRS SA/AY - ME)
ool MEASAY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 175,730
AUERSAE 278,280 136,496 141,784
= 139,140
< 69,570
i 69,570
402 RIZ2FX201 A 278,280 136,496 141,784
= 139,140
< 69,570
e 69,570
01 It =2 AL E X 278,280 136,496 141,784
Oguts &35t 164,280,000 164,280
= 82,140
= 41,070
s 41,070
Oga2Its XA 10,000, 000 10,000
= 5,000
< 2,500
[ia 2,500
OgLtE MNEAIE 96,000, 000 96,000
= 48,000
< 24,000
s 24,000
OQAMERSIIB XA (LSEI) 8,000,000 8,000
= 4,000
< 2,000
e 2,000
SHOIEIHBXE 162,640 162,220 420
2 110,800
e 51,840
402 RI2EX20l M 162,640 159,220 3,420
= 110,800
s 51,840
01 It 2 AL E X 162,640 159,220 3,420
Ogs=+8 43 2elXl 2 (5ha) 8,640,000 8,640
= 4,800
s 3,840
o =2d] XNJAAL 14,000
-y FZx 41 XN (FHE 500)
14,000, 000 14,000
= 6,000
e 8,000
OSSN ALE HUHF 140,000,000 140,000
= 100,000
s 40,000
AMNSREXA(2H]) 54,320 24,320 30,000
202 (44l 4,320 4,320 0
01 20t 4,320 4,320 0
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x
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0l &t o

=
i

2

4,320

50,000

20,000

30,000

50,000,000 * 40%
30,000,000

50,000

20,000
30,000

20,000

30,000

HH =W

2,752,493
446,333
29,000
255,000
2,022,160

2,142,831

609,662

[P

o
H
fo

MW

1,884,356
407,293
222,680

1,254,383

1,725,332

169,024

MW

443,787
177,515

79,882
186,390

465,327

A 21,540

101 1A dl

MW

315,642
126,257

56,816
132,569

278,067

37,575

O
=
e
2}
fol
e

04 J12tN 2 2 Xt

@)
=
0z
>
to
A

263,250,000

Mo

47,122,000

EURL Y

1,000,000

MR

4,270,000

U AT

315,642

263,250
105,300

47,385
110,565

47,122
18,849
8,482
19,791
1,000
400
180
420
4,270
1,708
769
1,793

278,067

37,575

201 2Bt Yl

Mo A

66,985
26,794
12,057
28,134

59,519

7,466

01 AR 2t el
%

45,366
17,000

44,200

1,166
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2N
X ZH -
L= B

el

SIN ]
%
0z
b
OF
o
%
02
1>
=z
~
0o
Q
[P
i

>
v O U

fob
[
£
o
H

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

— I & gt & 500,000 » 344 E 17,000
6,800
3,060
7,140
1,566
6,000 » 261 1,566
626
282
658

OT=H 14,800

—NEYUNENY 22= 400,000 * 37% 14,800
5,920
2,664
6,216
oYz 12,000

—NEBERT AR 4,000,000 * 3CH 12,000
4,800
2,160
5,040

&l 21,619 156,319 6,300
23 % HA 9,100
MEZAE AXZHMAA(SAZ)

130,000 * 70CH 9,100
3,640

1,638
3,822

OAI2 &l =Xl 10,000
— ZAIJtH2t RXE 2,000,000 * 5CH 10,000
4,000

1,800
4,200

2,519
2,519,000 2,519

1,008
453
1,058

tol
O

O
il
o
=

[
[P
W
™
]
]
>
o

HH A HH A

Mo

Mo

Mo

O
)
1]
==

|
x
MWt
M
o
_>'|_|
o
10
i
[==

MW

202 04l 1,160 2,000 A 840
464
209
487

HH A

—
=

o H
=
W 2
[Pa=
ol
Wb
0
=

,160 2,000 A 840
20,000 » 589 1,160

464
209
487

HH A

401 AIEBIZ S CHYI 60,000 72,741 AN12,741

24,000
10,800

o
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2N
X ZH -
L= B

el

SIN ]
%
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b
OF
o
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02
1>
=z
~
0o
Q
[P
i

oz oz
0 QU o

fob
[
£
o
H

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

25,200

HJ

01 A€ HI 60,000 72,741 N12,741
OSelZAlFtct w Al 60,000,000 60,000

24,000
10,800
25,200

Mo H

AR S LM (=4]) 376,099 252,642 123,457
229,778
43,898
102,423

MR

101 1Al 150,968 93,408 57,560
75,484
22,645
52,839

HH A

04 JI1ZtHZ22HsSE+ 150,968 93,408 57,560
OLtz ol 2 & Ml 93,408,000 » 1& 93,408
46,704

14,011
32,693

OolsgsxzA2Z (4Y) 57,560,000 57,560
28,780
8,634
20,146

A

MW

201 L Er2A | 756 0 756
378
113
265

MW

]| 756 0 756
oget2dl 756

— M=l 396,000 396
198

59
139
— &= 360,000 360
180

54
126

HH A

HH W

401 AIEHI L 2CHYI 219,975 154,443 65,532
161,716
20,480
47,779

Mo

01 A€ HI 217,975 152,443 65,532
Oarzdali = A (428ha) 217,975,000 217,975

160,716
20,280
46,979

03 A2 2 THHI 2,000 2,000 0

MW
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SRR}
FE: M oK (=¥ - AhE)
ool HEYES CER-ED
= d =
LR R HSAS - BE = e HlnE2
Outed 8ol & 2,000,000 2,000
= 1,000
< 200
s 800
402 2I2tX2 01 & 4,400 3,291 1,109
= 2,200
< 660
s 1,540
02 2I2HCH & A S HI 4,400 3,291 1,109
QuzAHNES Q2HASHE (200H4) 4,400,000 4,400
= 2,200
= 660
e 1,540
SRR (=) 463,000 340,000 123,000
= 98,900
s 364,100
201 Let24E] 463,000 340,000 123,000
= 98,900
s 364,100
01 At 22l 463,000 340,000 123,000
Ot | 63,000
—EWA S 60CH) 15,000,000 15,000
= 4,500
s 10,500
—xRUS ZISHEHI X (1,600 )
48,000,000 48,000
= 14,400
i 33,600
Ogxz 400,000
—d=dsE 400,000, 000 400,000
= 80,000
i 320,000
AMELXIHE (2 H) 524,845 514,220 10,625
101 1A Hl 333,895 315,520 18,375
04 JI2tHI 22 Xt 333,895 315,520 18,375
O&t=ZAl 2 333,895
— QI A H| 44,640 = 408 = 1502 267,840
— 428 = 267,840,000 * 16% 42,855
— o=l 70,000 = 409 2,800
— 554l X 3,400 = 40 = 1502 20,400
201 ¢er24l 189,950 196,700 A6,750
01 At 2t 2l 181,850 187,100 A5,250
O e8| 25,000
—M=EEEE A 25,000,000 25,000
ou=l 2,100
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A
B M WK (SEHS /LY - ME)
Atg 2te] (&)
SN HH-S(BN) - MBAY - B il HlnE2
Xl 29,000
s 29,000
401 Al Bl 28I 58,000 32,000 26,000
Xl 29,000
i 29,000
01 A& HI 58,000 32,000 26,000
OSAZHHIA (1.8km) 58,000,000 58,000
Xl 29,000
s 29,000
aZ 2te 398, 161 170,000 228,161
201 Let24d] 19,000 20,000 21,000
01 At 22l 19,000 20,000 A 1,000
=22 (SMHHU XN M 19,000, 000 19,000
401 Al& I 28I 379,161 150,000 229,161
01 A& HI 379,161 150,000 229,161
Oxsdttz =48 ¢ F 79,161,000 79,161
OdtldE RBudll 300,000, 000 300,000
54 22 40,000 16,000 24,000
< 20,000
[ia 20,000
401 Al &I 28I 40,000 16,000 24,000
= 20,000
s 20,000
01 A& HI 39,000 16,000 23,000
OEs=s &2 39,000,000 39,000
< 19,500
[ia 19,500
03 A& =2 THHI 1,000 0 1,000
OEBs= &2 1,000,000 1,000
= 500
s 500
2FALS 132,075 14,146 117,929
308 XtXIEHHSOIA 132,075 14,146 117,929
07 XXM RES 132,075 14,146 117,929
OAMEAY 2E3 132,075,000 132,075
PEl B ALY 127,278 119,928 7,350
101 14 Hl 124,278 116,928 7,350
04 JIZHHZ2XREE S 124,278 116,928 7,350
OMSHSIAIY ol 124,278
— QI H| 44,640 » 2498 = 100 107,136
—4HEE = 107,136,000 * 16% 17,142
201 LBt 3,000 3,000 0
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Al

<

n0

Kio

Hl w

A\ 397

A\ 397

N 397

N8 TT

1,323
1,323

500

500

H3r
Wikd
RIS

3,000

10,980

5,980
5,980

5,000
5,000

2,424

2,424

2,424

52,021

29,601
29,601

2,420

1,920

500

Off &t 24

3,000
3,000
3,000

10,980

5,980
5,980

980

980
5,000

5,000

5,000

5,000
5,000

2,027

608
1,419
2,027

U

i

608
1,419
2,027

H

mH

2,027

608
1,419
43,844

H

1

30,924
30,924
30,924
22,320

4,732
3,572

300

2,920

1,920
1,920

1,920
1,000
1,000
1,000

01 AtR 2t 2l |

00
<+

]
ol

Xk
&

3,000,000

o
1o

<+

0

30
0K
1)
ol

01 At 22l bl

-

0o
<+
&0
Ot

o

)]
<+
xr
K0
ol
o
ok
&0

INEEPN

ol

— AHALER F

70,000 * 798 * 23]

5,000,000

206 M= Hl

01 M= dl

- MM

oas
(=2 — R

b

off Ol &

O&te

5,000,000

<

307 21201 &

Kq
iz
D
<0
R0
A

oJ

1,013,500 = 29H

)
A

ofu
=0

101 1Al

04 JIZtN 22 XS+

0
I+

ol

oJ

ok

K1

l

il

44,640 = 298 * 250€

44,640 ~ 28 = 53¢

0
<+
s
Kk

22,320,000 * 16%

150,000 * 29

30
0K
oJ
oll

01 AtR 22l |

OAt2 22l

80,000 » 20 = 123

B0
0H
20
Ho

1,000,000

A

z
el

KO
)

Bl

ofn
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SA A
B aE ALK (SRHS /YL - 4E)
el sz GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
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OMEFT Al 2E(H) 5,000,000 5,000
OMENZ Al 2E(8) 7,000,000 7,000
ESHI)E=EE LHEZA 7,500 7,003 497
101 @1 21| 7,500 7,003 497
04 JI2ZtHI22XNHSE 7,500 7,003 497
O=gI|I=8 LHMZEAH186E)
44,6403 + 69 » 28 7,500
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B ZANL(ZELXNGMNL /AL EA)
I SANHE

- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AEH(IJMER2H) HAEEX HEALS 714,200 505,000 209,200
201 LBt 9 ]| 4,200 0 4,200
01 AP 22| H| 4,200 0 4,200
Ogbt4=24| 4,200
—AEHOIIER2H) HEEX EII/\P%%EHE
4,200,000 4,200
401 Al HI L £ 0HHI 710,000 505,000 205,000
01 Al& H| 700,000 500,000 200,000
OdEH(OIER2H) HEEX HE A
700,000,000 700,000
03 AlIE 2 HH]| 10,000 5,000 5,000
OdEH ("2 HEEX HE A
10,000,000 10,000
22 HE 210,000 310,000 A 100,000
401 A& HIZ 2 0HY| 210,000 310,000 A 100,000
01 Al&H| 200,000 300,000 A 100,000
Ozl A& THAEHI 200,000,000 200,000
03 Al 201 Y| 10,000 10,000 0
Ozl A& A 10,000,000 10,000
S AID|BHAIE &= 1,000,000 500,000 500,000
SAHEAIE EXZA 500,000 500,000 0
AEH L 20| 500,000 500,000 0
01 Al&H| 500,000 500,000 0
OZAHEALE HAEX LA 500,000,000 500,000
MAEAMHE JIEIAIE ESE ALY 500,000 0 500,000
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OAMANA JIBAIE SSAIY 500,000,000 500,000
SAHEEZ HA 4,900,000 4,500,000 400,000
NECANHEEZZ(E1-454682 1)ME 500,000 1,000,000 A 500,000
401 A& HIZL 2 0HY| 500,000 1,000,000 A 500,000
01 Al& b 496,000 990,000 A 494,000
ONEANHECZ2(Z1-45 4621, E8 =28~
JIEA )& 496,000,000 496,000
03 Al 20| 4,000 10,000 A 6,000
ONEANHECZ2 (14546821, E8 =28~
JMEA )N A 4,000,000 4,000
NEBCANHEEZ (A2-575621)M A 350,000 300,000 50,000
401 AlEHIZ £ 0HY| 350,000 300,000 50,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 350,000 300,000 50,000
ONEBZANHEEZ (L2-575621)ME
350,000,000 350,000
HAANINKNRIE2(F3-35d)IHE 350,000 500,000 A 150,000
401 Al HIZ 201 Y] 350,000 500,000 A 150,000
01 A& HI 340,000 490,000 A 150,000
OHATAAHEEZZ(E3-3sd, dadssW0
Q) & 340,000,000 340,000
03 A& S THHI 10,000 10,000 0
OEAYSANAHEEZ(E3-3ad, d4NsEsW
eH) & 10,000, 000 10,000
HATAHNEZZ(22-3254) W4 100,000 0 100,000
401 Al HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OEATANAHE =2 (A2-32546 )14
100,000,000 100,000
SMEXAHIAAHEECZ IHE 200,000 0 200,000
401 AIEHI L 201 200,000 0 200,000
01 A& Hl 200,000 0 200,000
OMHXNTSHRAAHEECZ ML 200,000, 000 200,000
HECAMHEZZ(L1-15) HA 450,000 300,000 150,000
401 Al HIZ 201 I 450,000 300,000 150,000
01 A& HI 446,000 300,000 146,000
OBEZANAEZZ (M558 ,5Hel)NE
446,000,000 446,000
03 Al 2 THHI 4,000 0 4,000
OFEZAAEZZ2(M-1556 ,5H2l)ME
4,000,000 4,000
HECAMAHAECZ (L2475 6 22) 04 400,000 1,000,000 A 600,000
401 A& HI R 201 I 400,000 1,000,000 A 600,000
01 A& Hl 400,000 1,000,000 A 600,000
OFECANAHE 2 (A2-475622)ME
400,000, 000 400,000
HECAHEZZ(A2-6546)HA 200,000 0 200,000
401 AIEHI L 201 200,000 0 200,000
01 A& Bl 200,000 0 200,000
OFETAAHEZZ2(AL2-65)IH&E 200,000,000 200,000
SelSAHEESZ (L2-175H) WA 500,000 500,000 0
401 A& HIZ 201 Y| 500,000 500,000 0
01 A& HI 500,000 500,000 0
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SAHEEZ W&

AL/ NALEAl)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Q8IS ANHE 2 (A2-175H)MA
500,000,000 500,000
S (MAH)ZTAHE 2 (A2-225 ) 300,000 200,000 100,000
401 AlEHIZL 2 0HY| 300,000 200,000 100,000
01 A&l 300,000 200,000 100,000
Ol (AH)EANHEEZ2 (A2-225 6 )L
300,000,000 300,000
SelTAIHEZZ2(A3-4546) JHAE 200,000 300,000 A 100,000
401 AIEHIZ 201 Y| 200,000 300,000 A 100,000
01 Al&HI 200,000 300,000 A 100,000
O8CISAHE TR (A34SH) HA
200,000,000 200,000
SSCAHEZT2(A2-7TSH) HE 200,000 0 200,000
401 Al HI L 204 HI 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O2STANHEEZ (A2-7TSH)INAE
200,000,000 200,000
S SAHEEZ2(AZ-12542/1) & 300,000 0 300,000
401 Al HI L £ 0HHI 300,000 0 300,000
01 Al& B 300,000 0 300,000
O8CZISAHEEZ2(A3-125EH21)HE
300,000,000 300,000
SCISAHEEZZ(ZQ0IMERNUZ )AL 150,000 0 150,000
401 AlEHIZL 2 0HY| 150,000 0 150,000
01 Al&EH| 150,000 0 150,000
QEeITANAHE 2 (ZQI0IIERAZ )N A
150,000,000 150,000
NECANHEZZ (A2-205 4 )AL 200,000 0 200,000
401 AlEHIZ £ 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
ONECAHE T2 (A2-2005E)NA
200,000,000 200,000
NEBCANHE 2 (A2-1185 K6 ) A 150,000 0 150,000
401 AlEHIZ 2 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OJNEHZAHEETZ2(A2-1185 &)L
150,000,000 150,000
IMTECAHE 2 (A2-38) HE 350,000 0 350,000
401 A& HI L 204 HI 350,000 0 350,000
01 Al&H| 350,000 0 350,000
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oo TANEETE HA (SHel: =)
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | ONECAHEZ2(A2-38))H& 350,000,000 350,000
EHEBAMH 261,622 633,468 371,846
2SR L 2 171,622 153,468 18, 154
101 @124 ] 15,624 14,588 1,036
04 JIZH22NEES 15,624 14,588 1,036
[IOXANE & ZHAZIZEE QA2
ool 15,624
— o124y 44,640 * 7% * 50 15,624
201 B2 b 56,560 43,560 13,000
01 At 22l 15,960 12,960 3,000
OYptagH) 4,000
—~EYH2DE FYBHE 2= 2L 1,000,000 1,000
~DHBDS GTEL 242 3,000,000 3,000
o2gay 1,960
-~ 20222 L ONQAARS FHALS
70,000 * 6% * 23 840
—SUTIHHIIZ SN BALY
70,000 * 8% * 23 1,120
oouxtz 10,000
—EHZDS BFHIH ZUYNE
10,000,000 10,000
02 2229 40,600 30,600 10,000
OZZR2 ¢ MA 10,600
—ZIOXAANR 240 S 22e2
6,600,000 6,600
—Ude AEXEE ®IIR2 4,000,000 4,000
OA&ZH KX b 30,000
—SHZIREE M)A S U
30,000,000 30,000
202 01H] 3,888 4,320 ~432
01 2U 01 b 3,888 4,320 N432
O2YZIE NEHs ol
20,000 * 3% * 6 * 128 * 90% 3,888
401 AIEHIZ 2 THH| 63,000 63,000 0
01 Al& | 63,000 63,000 0
OB =S HAIW &3 9,000,000 * 274 & 18,000
OB %L HAN S Hl 5,000,000 5,000
OZTOXNE X2 S Hul 35,000,000 35,000
OSE oL E Hb] 5,000,000 5,000
402 PI2H K= 0| & 30,100 28,000 2,100
01 QIR A B X 30,100 28,000 2,100
OS2 E &x 3,010,000 * 1094 & 30,100
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HH: TANL(FELXAMNL /AL A
&S FHEZNMA (chel & 9l)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
405 At&tE =HI 2,450 0 2,450
01 ML ESFHSH 2,450 0 2,450
O+ MAHI 350,000 7K 2,450
C2Y HdEHXE HE5EY 90,000 80,000 10,000
402 QI2tXt=01 ™ 90,000 80,000 10,000
02 SI2tCH A HI 90,000 80,000 10,000
OF=2d¥ o4HXE & @5E4 90,000,000 90,000
A2 A (S AID)(JIEH/IIEL) 61,410 65,628 A4,218
Jl2 (= AR 61,410 65,628 A4,218
=3 61,410 65,628 N4,218
201 2Bt2 | 47,528 51,410 N3,882
01 AtR 22l | 43,028 46,410 3,382
Ooggt+=gH| 36,528
— SANEXFY(A4) 25,300 * 1504 Xt 3,795
— SAS X7 (A3) 35,000 » 10&F Xt 350
—2ENRESFY 3,000,000 3,000
—dI=SEFY(258) 100,000& = 38tA 300
—dI=SEFYUS) 60,000% » 28t A 120
—SNEELT 60,0002 » 10=+A 600
—ENMEEEX 20,000 » 10 200
— SADIEYH 220,000 = 1CH = 43 880
—SAIIEE 715,000 = 104 * 13 715
—ZRHEHTY 338,000 = 4CH * 43 5,408
- ZEEHEUTY(ZZEH)
338,000 * 200 = 44 33 8,112
- ZRHEETY (2 ZRH)
490,600 * 2CH * 441 « 23] 7,850
— ot & deld ¢ 3,000,000 3,000
—chA(gEy) 2 1,000,000 1,000
— AFRJ1J1 =2lHl 1,000,000 1,000
— M 5,500 » 36 198
O3l 6,500
—AN2Z2X S20 4] 6,500,000 6,500
02 SE=4Hl 4,500 5,000 A 500
Ooss2= 4,500
— R8s €52 4,500,000 4,500
202 o4 4l 9,332 10,368 A 1,036
01 =LHO I 9,332 10,368 A 1,036
OJl=g==doitl
120,000 = 128 * 123 » 54% 9,332
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203 R =&t 3,000 3,000 0
04 FN2ELSZ=TH 3,000 3,000 0
ORAN2EYE=AH 250,000 » 128 3,000
405 TtabF S| 1,550 850 700
01 AL EFH S 1,550 850 700
OXtetH S| 1,550
—gRs My 250,000 = 34 750
— 88 AT 200,000 = 47K 800
WRES(RELNANL/NALEAI) 4,433,320 5,430,020 /996,700
WEAHAKE(Z AL 2,156,100 1,494,300 661,800
LHEHeHXI & 2,156,100 1,494,300 661,800
701 JIEtSI HEHES 400,000 390,000 10,000
01 JIEtZHEES 400,000 390,000 10,000
OZAHEANEUHRNEALANSLE S A
400,000, 000 400,000
702 IS8 ES 80,000 80,000 0
01 JI38&E= 80,000 80,000 0
Z2ZNEHII= 80,000,000 80,000
705 ==&l 34 1,676,100 1,024,300 651,800
O ==az=z4s 1,520,000 920,000 600,000
ONBEAANEEZZIHLE(3-254) sg2ellla
s =4 700,000,000 700,000
OJIEE ADIIXIL ZAAIE Ol ALY SE 22l
2 skt 2348 220,000, 000 220,000
ONBIANHALZZ(H0IZ) S22 &
i asas 200,000, 000 200,000
ONBZAAEZZ(E1-45H) 822013
s A=aE 200,000, 000 200,000
OB AAEZZ2(A2-47 2 2) S22
s A=aE 200,000, 000 200,000
02 Ol === 0l Xt & & 156,100 104,300 51,800
ONBAANEEZZIHLE(3-254) EEg22lI=a
A Ol Ataf & 49,000, 000 49,000
OJIEE AILXIL ZAAIE OIXMALSY S§E 22l
Jl= A Ol Xt&ke 23,100,000 23,100
ONBANHALZZ(H0IZ) S22 &
At Ol Xt &t &t 28,000, 000 28,000
ONBZAAEZZ2(E145H) 822013
A Ol Ataf & 28,000,000 28,000
OFEAAEZZ2(A2-47 2 2) S22
A Ol Ata & 28,000,000 28,000
SEXNE(ZAIL) 2,277,220 3,935,720 A 1,658,500
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
BHEXE (L8 2,277,220 3,935,720 A 1,658,500
311 Xt S0l & &t 233,220 355,720 A 122,500
01 Al -2 - FXNENLI XL S0l RS 59,500 182,000 A 122,500
ONEEAAHEZZ2ME (51-6,2-9)
27,300,000 27,300
OJE AN =24 (53-6) 32,200,000 32,200
03 SLEFRXL S0 AH4&e 173,720 173,720 0
OBECANAEEZ2(E1454)H4
173,720,000 173,720
601 XL S A S && 2,044,000 3,500,000 A 1,456,000
01 Al -2 - FXNEHLI UL LS 1,700,000 3,500,000 A 1,800,000
OJNEZAIHEZ2ME (F1-6,2-9)
780,000,000 780,000
OJMHAIDIXIR3 S 2 & (53-6) 920,000,000 920,000
03 SLFRXLS A3 aE 344,000 0 344,000
OFEZANHEZZ(S1-45 6 )4
344,000,000 344,000
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03 A2 S HI 4,000 4,000 0
OCIXel AOILE JH = 4,000,000 4,000
301 Lt A= 500 1,000 A500
09 AEHIES S 500 1,000 A 500
OMOILt 4= 500,000 500
401 AIEBI L 2CHEI 44,000 0 44,000
01 A& dl 44,000 0 44,000
odels(gaole) O At 44,000,000 44,000
SEZWA LYsH(sHLr /s - 5F) 1,234,280 0 1,234,280
Xl 864,000
s 370,280
LESMUE HEAS 1,234,280 0 1,234,280
Xl 864,000
s 370,280
HAHATHA SEEHAY 847,140 0 847,140
Xl 593,000
= 254,140
403 TR M SA=01H 847,140 0 847,140
Xl 593,000
= 254,140
02 S 2SO0l CHEHCHE AH B 847,140 0 847,140
OLAHATX SEEHIAY 847,140,000 847,140
Xl 593,000
[a 254,140
SXAHSSHSIIAMY 387,140 0 387,140
Xl 271,000
[a 116,140
403 TtXI M S A =01 A 387,140 0 387,140
Xl 271,000
[Ea 116,140
02 SO 2SOIHe CHE A+ I 387,140 0 387,140
OFxH Dt=2H=J| At 387,140,000 387,140
Xl 271,000
= 116,140
HY2HZH (DIHEEEMA)(JIEH/IIEH 18,164 22,767 A 4,603
Jl2ZH (DB A 18,164 22,767 A 4,603
=3l 18,164 22,767 A 4,603
201 LBt2 S 10,916 12,711 A1,795
01 At 22l bl 9,616 12,511 A2,895
Oget=gH| 6,116
— S ALSXI(A4) 25,300 = 2& Xt » 12 608
— S ALS XI(A3) 35,000 * 1&tkt = 33 105
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20158 = 20la e Al
AN 2BMNRD
I HYoy - UXF P (L33 /AdHL AN 2L)

9l XYols YN (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
|3l AHR 757,946 693,206 64,740
HAoF - MR PEH (LAY /dHA A 2e) 720,908 654,510 66,398

[&geg =28 X & 684,908 604,510 80,398
gF3gsNE 428,066 424,014 4,052
101 124 4] 16,598 14,811 1,787
04 D12 H22 TS 2 =+ 16,598 14,811 1,787
O2AMNRY 2 16,598
— QI 2| 44,640 » 198 = 270 12,053
- 5= 44,640 ~ 18 » 53¢ 2,366
— g Xt==g 44,640 » 1€ * 15¢ 670
— A EE 15,089,000 * 10.0% 1,509
201 LBt2 43,460 43,180 280
01 At 22l bl 5,460 5,180 280
o=2g=+g 2,660
— MR HELY
70,000 * 138 * 23] 1,820
~YABLIGBUANARNS BALY
70,000 = 3% * 43| 840
Oou =l 2,800
—d&YE L=l 400,000 » 7 2,800
02 S2=4Hl 25,000 25,000 0
OXtegt & ery| 25,000
—-&2(2d8) 11,000,000 = 1CH 11,000
- SE(Qd ¥ gRE) 7,000,000 * 2CH 14,000
03 A2 HI 13,000 13,000 0
OAlZ 23l M=&A 10,000,000 10,000
OdSE g3 N 3,000,000 3,000
205 ©| 3! bl 367,608 365,223 2,385
NEEEET 92,400 92,400 0
o288 &=l 1,100,000 = 7& » 12& 92,400
02838+¢ 136,710 134,400 2,310
Ogd=+¢ 136,710,000 136,710
03 /& =LH0dHI 15,120 15,120 0
Ol x| 0r 90,000 = 7& = 3« * 63 11,340
O3 &« s &4
90,000 = 7& = 3¢ * 23] 3,780
04 2/ & =208l 18,200 18,200 0
O=dd =+ 2,000,000 * 7 14,000
OS2=A&H I3 14,000,000 * 30% 4,200
05 =85S 3H 39,600 39,600 0
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